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Which one is not a characteristic of a Database 6.

Management System ?

(A) Structured data

(B) Redundancy of data

(C) Access, modification and retrieval of data

(D) Controlled data sHaring

7.

Which one of the following is not a computer

networking device ?
(A) Modem
(B) Router

(C) Switch g

(D) Ping

Which one is the correct combination ?
(A) SPSS, MATLAB, R

(B) Photoshop, Ubuntu, Paint
(C) Erdas, ENVIL, Powerpoint:
(D) Python, Java, Raster
(1011), + (10001), =

A) 11012

B) 11011

(C) 11100

D) 11010

Arrange the parts of the interior of the Earth in
ascending order of thickness.

(A) Crust, Mantle, Outer Core, Inner Core
(B) Inner Core, Outer Core, Mantle, Crust
(C) Crust, Inner Core, Outer Core, Mantle

(D) Crust, Mantle, Inner Core, Outer Core

SP-4720-A 2

The Kashmir Valley comprises rocks ranging in
age from Salkhala to Recent. The Salkhala is of :

(A) Cambrian Age

(B) Pre-Cambrian Age

(C) Devonian Age

(D) Ordovician Age

Which one of the following is not a minor plate ?
(A) Arabian

(B) Fuji

(C) Nazca

(D) Antarctica

The following is topographic evidence of the
rejuvenation of a river :

(A) Change in valley slope

(B) Valley cut within a valley

(C) River terrace

(D) Incised meanders

Land Capability Classification has been developed

by :

(A) National Remote Sensing Agency

B) Indian Council of Agricultural Research

(C) United States Department of Agriculture

(D) National Bureau of Soil Survey & Land Use
Planning

. The downward translocation of humus, clay particles,

mineral oxides, and calcium carbonate from an upper
horizon to a lower horizon of soil is called :

(A) Salinization
(B) Iluviation
(C) Transpiration
(D) Eluviation




11.

12.

13

14.

15.
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Badland topography is a result of : 16.

(A) Tectonism
(B) Erosion
(C) Cultivation
(D) Siltation

Which one of the following practices hampers soil 17.

conservation ?
(A) Overgrazing
(B) Contour farming

(C) Terrace farming

(D) Strip Cropping

The following electromagnetic band pairs are used 18.

for Normalized Difference Vegetation Index (NDVT)
Calculation :

(A) Green and Red

(B) Red and Blue
(C) NIR and Green

(D) Red and NIR

19,

Which of the following is a topographic map’s largest
scale?

(A) 1:25,000
B) 1:50,000
(C) 1:100,000
(D) 1:250,000

20.

Which one of the following systems uses the vector
and raster data ?

(A) Remote Sensing System

(B) Geographic Information System
(C) Global Positioning System

(D) Both (A) and (B)

M w

The LISS-IV sensor was first introduced with :
(A) CARTOSAT

(B) SENTINEL

(C) RESOURCESAT

(D) SPOT

The portion of the discharge of a stream contributed
by groundwater seepage is called :

(A) Base flow

(B) Interflow

(C) Surface runoff

(D) Lag

Which parameters are used to construct hydrographs ?
(A) Stream discharge vs Time

(B) Time vs Area

(C) Distance vs Time

(D) Stream discharge vs Area

Which is not an instrument to measure rainfall ?
(A) Rain gauge

(B) Tipping bucket

(C) Hypsometer

(D) Udometer

The landform created during overbank flooding,
when sand and silt are deposited next to the channel,
creating belts of higher land on either side of the
channel, is called :

(A) Backswamp
(B) Playa
(C) Bhuff
(D) Levee
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22,

.

24.

25,
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In the 2030 Agenda for Sustainable Development, 26.
the 7" Goal is :

(A) Zero Hunger

(B) Climate Action -

(C) Affordable and Clean Energy
(D) Gender Equality

As per the latest Seismic Zonation map given by 27.
the Bureau of Indian Standards, Jammu and Kashmir
falls under : ;

(A) Zone III and IV

(B) ZoneIV and V

(C) Zone Ill and V

(D) Zone II and III 28
The host Country of World Environment Day 2024

was :

(A) The Kingdom of Saudi Arabia

(B) South Africa

(C) Brazl

(D) Geneva 29.

The highest proportion of the total water used in
the Country is in the following sector :

(A) Irigation

(B) Industries

(C) Domestic Use

(D) Commercial

The most dominant forest cover of Jammu and 30.
Kashmir is :

(A) Lower or Siwalik Chir Pine Forest

(B) Western Mixed Coniferous Forest

(C) Moist Deodar Forest (Cedrus)
(D) West Himalayan Sub-Alpine Fir Forest

[T S

In which district Lignite is found in Jammu and
Kashmir ?

(A) Doda
(B) Kulgam
(C) Kathua
(D) Kupwara

A line on a weather chart joining places of equal
wind velocity is called :

(A) Isorhyme
(B) Isopach
(C) Isotach

(D) Isoneph

. Karewas soil of Kashmir Valley is most suitable

for cultivation of :
(A) Potato

(B) Saffron

(C) Coconut
(D) Groundnut

A variant of the sequence of nucleotides at a
particular location, or locus, on a DNA molecule
is called:

(A) Genotype

(B) Phenotype

(C) Chromosome

D) Allele

A flower with radial symmetry is called :
(A) Actinomorphic

(B) Zygomorphic

(C) Ebracteate

(D) Epigynous




31

32,

33.

34.

35
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. The gaseous exchange in alveoli is a type of :

Which ecosystem has the maximum biomass ?  36.

(A) Grassland ecosystem
(B) Pond ecosystem
(C) Forest ecosystem
(D) Lake ecosystem

Which one is not a form of transpiration in

plants ?

(A) Radical transpiration
(B) Cuticular transpiration
(C) Lenticular transpiration

(D) Stomatal transpiration

In a neuron, Schwann Cells, Node of Ranvier and 38.

Myelin sheath are part of :

(A) Cell body

(B) Axon

(C) Dendrites

(D) All of the above

Which one is not true for Selva Forests ?

(A) Tall broad-leaved trees

(B) Change the colour of leaves during autur-nn
(C) Found in tropical rainforests

(D) Typical of the Amazon basin

(A) Simple diffusion
(B) Osmosis
(C) Active transport

(D) Passive transport

R wn

37.

39,

40.

The correct order of endocrine glands from head
to toe of a human body is :

(A) Adrenal, Thyroid, Thymus, Pituitary

(B) Thymus, Pituitary, Pancreas, Adrenal
(C) Thyroid, Pancreas, Adrenal, Pituitary
(D) Pituitary, Thyroid, Thymus, Pancreas

In a manned satellite, people experience no gravity,
and it is known as :

(A) Gravity-weight
(B) Gravitational weight
(C) Weightlessness
(D) Less-weight gravity

Which of the following proves that electromagnetic
waves are transverse ?

(A) Reflection

(B) Diffraction

(C) Interference

(D) Polarisation

Which of the following statements is not true ?

(A) When an electric wire is heated, its resistance

decreases

(B) Heating increases the collisions between free
electrons and atoms in the wire

(C) Resistance can be calculated using Ohm’s Law
(D) Metals have low resistivities

The rate of evaporation is inversely proportional
to :

(A) Surface area
(B) Wind speed
(C) Humidity

(D) Temperature
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An aqueous solution turns the red litmus solution 46,

blue. Excess addition of which of the following
solutions would reverse the change ?

(A) Baking powder

(B) Lime

(C) Ammonium hydroxide solution
(D) Hydrochloric acid

An isolated system : 47.

(A) is one in which mass within the system is not
necessarily constant

(B) cannot transfer either energy or mass to or
from the surroundings

(C) is aregion of constant mass, and only energy
is allowed through the closed boundaries

(D) is a specified region where the transfer of 48.

energy and mass takes place
Which one of the following statements is not true ?

(A) Anoxidation process always needs the presence
of oxygen

(B) When a reactant loses electrons during a
reaction, it is called oxidation

(C) When a reactant accumulates electrons during 49.

a reaction, it is called reduction

(D) In aredox reaction, reduction and oxidation
occur simultaneously

Which of the following pairs represents isobars ?
(A) *He, and ‘He,

B) *Mg, and Mg, 50.

0

(C) “K,, and “Ca,,

D) “K,, and YK

The amount of energy, as it is transferred from one
trophic level to another in an ecosystem :

(A) Remains constant

(B) Decreases

(C) Increases

(D) Has no definite relationship

=)

Which of the following are ecological services ?

(A) O, fixation, CO, release and pollution

(B) Nitrogen fixation and pollution

(C) CO, fixation, O, release and pollination

(D) CO, fixation, fertilization and the release of
sodium

Respiration and photosynthesis are central to the

following :

(A) Nitrogen cycle

(B) Phosphorous cycle

(C) Carbon cycle

(D) Sulphur cycle

Which basin in the Indian Himalayas has the
maximum number of glaciers ?

(A) Shyok

B) Tista

(C) Chenab

(D) Indus

The formation of fronts is possible due to :

(A) Convergence of contrasting air masses

(B) Divergence of contrasting air masses

(C) Convergence of similar air masses

(D) Divergence of similar air masses

Which one of the following statements is not true ?

(A) Climate change is real and human activities
are the main cause

(B) Rising sea level is a direct impact of climate
change

(C) CO,isamore powerful pollutant than Methene
with Global Warming potential

(D) The concentration of Greenhouse gases in the
Earth’s atmosphere is directly linked to the
average global temperature on Earth
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31.

o F.3

33.

54.

33.

Which of the following is a non-renewable source 56.

of energy ?

(A) Hydal

(B) Solar

(C) Sea Wave

(D) Fossil Fuels

The coldest region of the atmosphere :
(A) Troposphere

(B) Thermosphere

(C) Stratosphere

(D) Mesosphere

If the mean of a dataset is 50 and the standard
deviation is 10, what is the coefficient of variation ?

(A) 2%
®) 10%
(©) 20%
D) 50%

Among these, which sampling is based on equal

probability ?

(A) Probability sampling

(B) Stratified random sampling
(C) Systematic sampling

(D) Simple random sampling

Kurtosis is a measure of the tailedness of a
distribution. Distributions with high kurtosis (or fat
tails) are called :

(A) Mesokurtic
(B) Leptokurtic
(C) Platykurtic
(D) Hypokurtic

H <

1

58.

ol 8

60.

A trend line that shows the most accurate relationshi;ﬁ
between x and y describes :

(A) Linear regression
(B) No correlation
(C) Clusters -

(D) Line of best fit

The 21* term of Arithmetic Progression, whose
first two terms are — 3 and 4, is :

A 17
(B) 137
(C) 143
(D) -143
0 1 =2
-1 0 3 | isanexample of:
2 =3 0

(A) Skew symmetric matrix

(B) Null matrix

(C) Symmetric matrix

(D) Identity matrix
vi(ay-+3)=yt+ 1 i8q

(A) Qﬁadratic equation

(B) Cubic equation

(C) Linear equation

(D) Rational equation

If (1/8 1) + (179 )=(x/10 1), x = ?
A) 72
(B) 100
(©) 90
(D) 81




Y N
SroNO.

ENTRANCE TEST-2023

SCHOOL OF ENVIRONMENTAL AND EARTH SCIENCES

GEOINFORMATICS
Total Questions : 60 Question Booklet Series

TimeAllowed : 70 Minutes Roll No.:

Instructionsfor Candidates:
1. Writeyour Entrance Test Roll Number in the space provided at the top of this page of Question Booklet and
fill up the necessary information in the spaces provided on the OMR Answer Sheet.

2. OMR Answer Sheet hasan Origind Copy and aCandidate’ s Copy glued benegthiit at the top. While making
entries in the Origind Copy, candidate should ensure that the two copies are digned properly so that the
entries made in the Origind Copy againg each item are exactly copied in the Candidate’ s Copy.

3. é’li | entriesinthe OMR Answer Shet, including answersto questions, areto berecorded in the Origina Copy
y.

4. Choose the correct / most appropriate response for each question among the options A, B, C and D and
darken the circle of the appropriate response completely. The incomplete darkened circle is not correctly
read by the OMR Scanner and no complaint to this effect shall be entertained.

5. Use only blue/black bal point pen to darken the circle of correct/most appropriate response. In no case
gel/ink pen or pencil should be used.

6. Do not darken more than one circle of options for any question. A question with more than one darkened
response shdl be considered wrong.

7. Therewill be‘Negative Marking' for wrong answers. Each wrong answer will lead to the deduction of
0.25 marks from the total score of the candidate.

8. Only those candidates who would obtain positive score in Entrance Test Examination shdl be digible for
admisson.

9. Do not make any stray mark on the OMR sheet.
10. Cdculators and mobiles shal not be permitted insde the examination hall.
11. Rough work, if any, should be done on the blank sheets provided with the question booklet.

12. OMR Answer Sheet must be handled carefully and it should not be folded or mutilated in which caseit will not
be evauated.

13. Ensure that your OMR Answer Sheet has been signed by the Invigilator and the candidate himsdf/hersdf.

14. At the end of the examination, hand over the OMR Answer Sheet to the invigilator who will firgt tear off the
origind OMR sheet in presence of the Candidate and hand over the Candidate' s Copy to the candidate.

SM-29552-A 1 [Turn over
\ u y,




SM-29552-A

(10101),+ (1101), = 6.
(A) (110010),

(B) (110101),

(C) (100010),

(D) (101100),

SSD stands for :

(A) Solid Storage Drive

(B) Serid Storage Drive £
(C) Solid Satic Drive

(D) Solid State Drive

Which oneisnot a GI'S programming language ?
(A) Fedora

(B) Java

(C) C++

(D) Python

is a network of devices that have
embedded hardware and software to communicate
(connect and exchange data) with other devices on
the same network. 0.

(A)
(B) Virtud Private Network

(C) Tenet

(D) Png

Theboundary surface between the earth’ smantleand

Internet of Things

coreiscaled: 10.

(A)
(B)
(©)
(D)

Gutenberg discontinuity
Mohorovicic discontinuity
Lehmann discontinuity
Conrad discontinuity

I \)

It isbdieved by some geologigtsthat Dd Lakeisthe
remnant of a Pleistocene oligotrophic lake.
Ple stocene Epoch began around :

(A) 18 millionyearsago

(B) 258 million years ago

(C) 3.6 millionyearsago

(D) 5.33millionyearsago
Payaisalandform associated with :
(A) Glaciers

(B) Deserts

(C) River badn

(D) Coasts

An overturned fold in which the axid surfaceismore
or less horizontd, iscalled :

(A) Recumbent fold
(B) Chevronfold
(C) Isodind fold
(D) Ptygmatic fold

Headquarters of the National Bureau of Soil Survey
& Land Use Planning islocated in:

(A) Hyderabad

(B) Srinagar

(C) Naegpur

(D) Lucknow
Exfoligtion isaresult of :
(A) Metamorphism

(B) Physcd Westhering
(C) Chemicd Westhering
(D) Splash Erosion



11. Thebassof Land Cgpability Classficaionis: 17.
(A) Exiging fertility and productivity
(B) The potentid for agricultural and other uses
(C) Capacity to resst soil erosion
(D) All of these
12.  Which factor is not important for soil formation ?
(A) Time 18.
(B) Parent materid
(C) Gravity
(D) Climae
13. Thevigble portion of EMR lies between :
(A) 0.2and 0.5 micrometers
(B) 0.4 and 0.7 micrometers 19.
(C) 0.6 and 0.9 micrometers
(D) None of the above
14. Which oneisan Indian Remote Sensing Satellite ?
(A) Formosat
(B) Envisa
(C) Radarsat 20,
(D) Cartosat
15. GISis:
(A) A container of mapsin digital form
(B) A computerized tool for solving geographic
problems
(C) A gpatia decison support system
(D) All of the dove 21
16. In atopographic map, a few contours are dmost
superimposed over one another. It indicates:
(A) Gentledope
(B) Cliff
(C) Spur
(D) None of these
SM-29552-A

LIV

Pong Reservair is built on which river ?
(A)
(B)
(C) Myntdu

(D) Kopili

Evapotranspiration may be measured by :
(A) Pyranometer

Beas

Sutlg

(B) Hypsometer

(C) Hygrometer

(D) Lysmeter

Hydropower potentid estimation is not dependent
on:

(A) Head

(B) Reservoir Volume

(C) Gravity

(D) Steamflow

Steeply risng ground dopes marking the outer limits
of afloodplain are cdled :

(A) Bluff
(B)
(©)
(D)
A rapidly descending mass, usudly of snow, down a

Levee
Backswamp
Neck

mountaingdeiscaled :
(A) Subsidence
(B) Rock dide
(C) Debrisdide
(D) Avdanche
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The 13" God of the United Nations Department of 27.

Economics and Socid Affairsisfocused on :

(A) Clean Water and Sanitation

(B) Climate Change

(C) Affordable and Clean Energy

(D) Sudanable Cities and Communities

The Kyoto Protocol was adopted in Kyoto, Japan,

on: 28.

14 June 1992

22 April 2016

(C) 11 December 1997
(D) 18 March 2015

Asper the Centrd Pollution Control Board, Ministry
of Environment, Forests and Climate Change, the

(A)
(B)

threshold of Very Poor to SevereNationa Air Qudity 29.

Index (AQI) vaueis:
(A) 400
(B) 350
(C) 300

(D) 250 30.

Which Wildlife Sanctuary isnat located in Jammu and
Kashmir ?

(A) Jasrota

(B) OveraAru

(C) Kibber

(D) Hirapora

Metrorail Network Map isan ided example of :
(A) Chloropleth

(B) Isopleth

(©)
(D)

Cartogram
Heat map

N

31.

On a 1:50,000 toposhest, the distance between two
villages is found to be 2 cm. What is their ground
distance ?

(A) 1000 m

(B) 10km

(C) 25km

(D) 10m

Geological Survey of India has recently reported
Lithium and Gold depositsin which digtrict of Jammu
& Kashmir ?

(A)
(B)
(®)
(D)
Anindividud’s collection of genesiscdled :

(A) Genotype

(B) Phenotype

(C) Trat

(D) Allde

Male reproductive part of aflower iscdled :

(A) Zygote

(B) Sepal

(C) Rdil

(D) Stamen

Net Primary Productivity of an ecosysemismeasured
by :
(A)
(B)

Rajouri
Ramban
Reas

Kulgam

Biomass production during photosynthesis
Gross primary productivity minus respiration
losses

(©)
(D)

Formation of new organic matter by consumers
None of the above



32.

33.

35.

36.
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The movement of materids from the leaves to other 37.

tissues of the plant iscdled :
(A) Tropic movement

(B) Guttation

(C) Trangpiration

(D) Trandocation

The smdl intestine of a human has three parts. The 3.

middle partiscaled :
(A) Duodenum
(B) Jgunum

(C) lleum

(D) Coalon

39.

The trangition between forest and grasdand biomes
iscdled:

(A) Tundra

(B) Savanna
(C) Tdga

(D) None of these

40.

Which oneis not an endocrine gland ?
(A) Mucous

(B) Pituitary 41.

(C) Adrend
(D) Pancreas

Alfred Russd Wallacedivided theearthinto how many
biogeographic realms based on the distribution of

animals and plants ? 42.

(A) 4
(B) 5
(© 6
D) 7

B o

Which law describesthe orbits of planets around the
un ?

(A) Newton'slaw

(B) Faraday’slaw

(C©) Kepler'slaw

(D) Kirchoff'sLaw

Thefird law of thermodynamicsis the principle of :
(A) Consarvation of mass

(B) Conservation of energy

(C) Conservation of charge

(D) None of the above

Light travels:

(A) Fastestinvacuum

(B) Fastest in water

(C) Fedesinar

(D) Independent of the medium

Which oneis not a magnetic materid ?

(A) Iron

(B) Nicke

(C) Cobdt

(D) Zinc

Isotopes of an dement have :

(A) Different chemicd and physica properties
(B) Similar chemicd and physicd properties

(C) Similar chemicd but different physica properties
(D) Similar physca but different chemica properties
pH vaue lessthan 7 indicates that the solution is:
(A) Addic

(B) Badc

(C) Neutra

(D) Hypotonic
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46.

47.
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Which law dates that the volume of an ided gas a 48.

constant pressure is directly proportional to its
absolute temperature ?

(A) Jouleslaw

(B) Avogadro'slaw

(C) Boyléslaw

(D) Charlesslaw

Removd of oxygen from a.compound is an example
of :
(A)
(B)
(©
(D)
Themain am of socid foredry is:
(A) To utilizethewastdand

(B)

Oxidetion
Reduction
Oxygenation
None of the above

50.

To meet the requirement of fuel wood and

fodder
(C) To create an ecological balance
(D)

In a food chain, the third trophic leve is aways

None of these

occupied by :
(A)
(B)
(©
(D)
Which biogeochemicd cycleisthe dowest ?
(A)
(B)
(©
(D)

Carnivores
Herbivores

Producers

Carbon
Nitrogen
Phosphorus
Sulphur

o))

49,

51.

Decomposers S2.

Which glacier in Kashmir is locdly named ‘ Gwash
Brani’ - Goddess of Light ?

(A) Thgwas

(B) Nehnar

(C) Kolahoi

(D) Panjtani

Most of the weather phenomenatake placeinthe:
(A) Mesosphere

(B) Troposphere

(C) Stratosphere

(D) lonosphere

The solar energy received a the earth’'s surface is
cdled:

(A) Energy budget
(B) Diffuson
(C) Albedo
(D) Insolation

Which among thefollowing isnot arenewable source
of energy ?

(A) Solar energy

(B) Biomassenergy

(C) Hydro-power

(D) Geothermd energy

Which one is a reliable tool for studying
paeoclimates ?

(A) Tree-ring reconstruction

(B)
(C) Cord reefs
(D) All of these

| ce-core study



53.

55.

56.
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In anegatively skewed digtribution : 57.

(A) Mean > Mode> Median
(B) Mode < Median > Mean
(C) Mode> Median > Mean
(D) Mean > Median > Mode
Sampleisregarded as a subset of :
(A) Data

(B) Set

(C) Didribution

(D) Population

What among the following is not part of aregresson 59

equation ?

(A) Intercept

(B) Slope

(C) Cosfficient of variaion
(D) Error term

A scatterplot represents the relaionship between:  60.

(A) Causeand effects

(B) Causeand problem

(C) Effectsand output

(D) Production and productivity

LIEN|

58.

The vaue of Permutation(n, n-1) is:

(A) n

(B) n

(© 2n

(D) 2n!

The polynomid equation x (x + 1) + 8 = (X + 2)
x—=2)is:

(A) Linear equation

(B) Quadrdtic equation

(C) Cubicequation

(D) Bi-quadratic equation

If amatrix P is of order 3x4 and a matrix Q is of
order 4x3, then the order of QPis:

(A) 4x3

(B) 3x4

(C) 3x3

(D) 4x4

Which of the following statement is not correct ?
(A) log,()=0

(B) log,(10)=1

(C) log (2+3) =log (2 x 3)

(D) log (1+2+3) =log 1 +log 2+ log 3
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1. Which of the following UNS SDGs focuses on 6. The largest glacier in Kashmir Valley is :
sustainable cities and communities ? i

(A) Kolahoi
A) Goal 9
) 0 (B) Thajiwas
B) Goal 10
B Ge (C) Nehnar
(C) Goal'11 (D) Shishram
(Ltod 1J 7. The largest wetland of UT of J&K is :
2. How many nation-states have signed UNFCCC ?

(A) Wular
(A) 145

(B) Hokersar
(B) 155

(C) Shallabug
(C) 165

(D) Mansar
D) 175 :

8. Mapscaleis:
3. Disaster Management Act was passed by Rajya
Sabha'in: (A) The ratio between a distance on a map and
(A) 2005 the corresponding distance on the ground
®) 2006 (B) The ratio between a distance on the ground
and the corresponding distance on a map

(C) 2007 ) :

(C) The ratio between a distance on the ground
(D) 2008

and the corresponding distance on a GPS

4.  Which of the following Acts was passed by the (D) All of these

Indian Parliament in wake of the Bhopal Gas
Tragedy ?

(A) Environmental Protection Act (A) High DO and bacteria

(B) Nitrogen and phosphorous

Eutrophication of lake ecosystems is due to :

(B) Disaster Management Act

(C) Air (Prevention and Control of Pollution) Act (©nCiepmsndmerany

(D) Water Pollution Act (D) Lead and hydrogen sulphide
: ich of the followi i has the hichest

5. Which one of the following is the largest National - Whlc 0' e following regions has the highes

Park ? biodiversity ?

(A) Kazinag National Park (A) Tundra

(B) Dachigam National Park ' (B) Taiga

(C) Hemis National Park (C) Mangroves

(D) Desert National Park (D) Tropical rain-forest

‘e
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12,

130

14.

15

The final stable community in an ecological 16. Which of the following prevents the entry of food

succession is called :
(A) Seral community
(B) Final community
(C) Ultimate comniunity

(D) Climax community

The process of weakening the seed coat to break 17.

the dormancy is called :
(A) Vernalisation
(B) Scarification
(C) Stratification
(D) None of the above

Which of the following is a state bird of UT of 1§

J&K ?

(A) Kalij Pheasant

(B) Black-necked crane
(C) Paradise flycatcher
(D) Himalayan vulture

Which of the following natural regions is known
as the ‘Land of Big Games’ ?

(A) Temperate grassland
(B) Tropical monsoon region
(C) Tropical savannah region
(D) Tundra

Permafrost is found in which of the following 2.

biomes ?

(A) Tundra

(B) Taiga '
(C) Grassland

(D) Forest

SV-14743-B 3
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into the windpipe ?
(A) Trachea

(B) Larynx

(C) Epiglottis
(D) Pharynx

Which of the following waves have the shortest
wavelength ?

(A) Cosmic rays

(B) X-rays

(C) Microwaves

(D) Radiowaves

The speed of light in vacuum is approximately :
(A) 300000 km/s

(B) 300000 m/s

(C) 300000 mJ/s

(D) 300000 cm/s

When a cricket ball is thrown up vertically, the
force of gravity acting on it :

(A) Is opposite to the direction of motion of the
ball

(B) Isin the same direction of motion as the ball
(C) Increases as it rises up
(D) None of the above

What happens when light travels from air to
glass ?

(A) It bends towards the normal
(B) It bends away from the normal

(C) It becomes parallel to the normal

(D) There is no change
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22

23.

24.

25.

The density of water is ma.ximmﬁ at:

(A) 0°C

B) 1°C

(C) 2°C

(D) 4°C

Who was the first to propose the Atomic Theory ?
(A) J.J. Thomson

(B) John Dalton

(C) Neils Bohr 2l

(D) T.A.Edison

Which of the following given elements is the most
electropositive ?

(A) S

(B) Cl 28

(C) Mg
(D) Al

The equation of state for an ideal gas is represented
as :

(A) PV=R/T

(B) P/V=RT 29.

(C) P/V=nRT

(D) PV=nRT

Carbon is a common component of :
(A) Limestone

(B) All organisms

(C) Volcanic gases

(D) All of the above

SV-14743-B 4

26. How does the concentration of carbon dioxide in

the atmosphere affect climate ?

(A) As carbon dioxide concentration increases,
temperatures decreases

(B) As carbon dioxide concentration increases,
temperatures increases

(C) Carbon dioxide concentrations do not affect
climate

(D) As carbon dioxide concentrations increase,
temperatures become more random

Which process releases nitrogen gas (N,) back into
the atmosphere ?

(A) Denitrification
(B) Nitrogen fixation
(C) Decay

(D) Nitrification

. Phosphorus does NOT travel through which of the

following spheres ?
(A) Lithosphere
(B) Atmosphere
(C) Biosphere
(D) Geosphere

Although direct measurements of atmospheric
carbon dioxide have only been taken consistently
since the 1950s, scientists have been able to
retrieve data from the proxies that include :

(A) Ice cores from ice sheets

(B) Sediment cores from the ocean
(C) - Tree rings

(D) All of the above
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“30. The height of the troposphere is approximately : 35. The fishbowl draw is a method of drawing :
(A) 80 km (A) Independent sample
(B) Structured sample
(B) 50 km
(C) 12 km (C) Non-random sample
D) 120 km (D) Random sample
31. The lowest layer of the atmosphere is : 36. For a perfectly homogenous population, the
@A) T b minimum required sample size is :
roposphere
(B) Stratosph S
ratosphere
C) I h e
nosphere
( e (C) Whole population
D) Th h
(D) Thermosphere D) Infinite
32. Which of the following is a primary air '
s 37. The sum of the first 200 natural numbers is :
po ?
(A) 19100
(A) Ozone
(B) 20100
(B) Formaldehyde
(©) 21100
(C) Photochemical smog
(D) 22100
(D) Hydrocarbons
: : : -1 4
33. The median 0f 2,6,6,8,4,2,7.9 values is : 38. IfA= {5 8]’ the trace of matrix A is :
(4) 4
A) 6
®) 7
©) 6
©) 8
D) 7
D) ®) 9
34. The average of the three numbers is 21. If two of
th b 4 and 12, what is th ini
e e ofmatrixA=[
number ?
(A) 37 (A) 2x3
(B) 47 (B) 2x2
©) 57 E (© 3x3
D) 67 (B) 44
‘e
SV-14743-B 5
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40.

41.

42.

43,

44,

The main key difference between AND gate and 45.
OR gate is that :

(A) AND gate gives a true output only when all
the inputs are true whereas the OR gate gives
a true output when at least one of the inputs
is true

(B) AND gate gives a true output only when one

of the inputs is true whereas the OR gate gives 46.
a true output when all the inputs are true

(C) Both (A) and (B)

(D) None of the above

The decimal equivalent of 101010 is :
(A) 38

(B) 40

©) 42

(D) 44

The binary equivalent of 323 :
(A) 101000111

(B) 101000010

(C) 101000001

(D) 101000011

The full form of HTTP is :

(A) HyperText Transfer Package

47.

48.

(B) HyperTransfer Text Package
(C) HyperText Transfer Protocol
(D) HyperText Transfer Practice

The location of a resource on the internet is given
by : 49.

(A) URL

(B) Email :
(C) P

(D) Protocol

SV-14743-B 6

Which of the following is the longest glacier
outside the polar regions ?

(A) Fedchenko Glacier
(B) Siachin Glacier
(C) Gangotri Glacier
(D) Hispar Glacier

Mobhorovici¢ discontinuity marks the boundary
between :

(A) Crust and Mantle
(B) Mantle and Core

(C) Inner and Outer Core
(D) None

Continental drift theory was proposed by :
(A) Alfred Wegener

(B) Thomas Alva Edison

(C) Arthur Holmes

(D) Eduard Suess

Holocene is the name given to the geological epoch ;
that began :

(A) 5,650 years BP

(B) 11,650 years BP
(C) 15,650 years BP
(D) 20,650 years BP

Gully erosion is an advanced stage of :
(A) Rill erosion

(B) Splash erosion

(C) Sheet erosion

(D) Wind erosion



51.

52.

59,

54.

35.

Which of the following soil conservation methods 56.

is generally implemented in the coastal and dry
regions ?

(A) Contour ploughing
(B) Terrace farming
(C) Mulching

(D) Shelter belts

Which of the following is the first stage of water 57.

erosion ?

(A) Rill erosion

(B) Sheet erosion

(C) Gully erosion

(D) Splash erosion
Karewas are found in :
(A) West Bengal

(B) Rajasthan

(C) Nagaland

(D) Jammu and Kashmir

A handheld camera with the flash turned on during
dim light is an example of :

(A) Active sensor

59.

(B) Passive sensor

(C) Proactive sensor

(D) None

GIS allows the user to perform :
(A) Store data

(B) Editdata 60.

(C) Create searches

(D) All of the above

GIS was coined by :

(A) Roger Tomlinson

(B) Roger James :
(C) Richard Frost

(D) None of the above

SV-14743-B 7

58.

On a topographic map, the closer the contour lines
the :

(A) Steeper the slope

(B) Flatter the land surface
(C) Gentler the slope

(D) Lower the elevation

The graph showing discharge versus time
represents :

(A) Hydrograph

(B) Pluviograph

(C) Environmental flow

(D) None of the above
Hydrograph will peak faster in :
(A) Forested land

(B) Agricultural land

(C) Urbanized land

(D) All of the above
Pluviograph is an instrument used for measuring :
(A) Snow

(B) Hail

(C) Precipitation

(D) Sleet

Pyranometer is an instrument used for
measuring :

(A) Lunar radiation

(B) Solar radiation

(C) Terrestrial radiation
(D) None of the above
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The UNECCC is an International Environmental 6.

treaty that came into force on :
A) 21 March 1994
(B) 21 March 1995
(©) 21 April 1994
(D) 21 April 1995

i
Which of the following is not a Millennium

Development Goal ?
(A)
(B)

(C) Promote gender equality and empower

Eradicate extreme poverty and hunger

Achieve universal primary education

women
(D)
Which of the following UN Sustainable Development

Improve mental health

Goals focuses on affordable and clean energy 7
(A) Goal 6 :

(B) Goal 7 9.
(C) Goal 9

(D) Goal 8

The UNCCD entered into force in !

(A) December 1996

(B) D.ecember 1997

(C) December 1998

(D) December 1999 10.

Sapphire, a precious gemstone, is found in :
(A) East Karakorum, Leh

(B) Paddar, Kishtwar '

(C) Uri, Baramulla '

(D) Sonamarg, Ganderbal

JJ-318-B 2
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Which of the following is the largest glacier of
Kashmir Valley ?

(A) Nehnar
(B) Kolahoi
(C) Shishram
(D) Hoksar

Which of the following is a Ramsar designated
wetland ?

(A) Hokersar

(B) Khushalsar

(C) Aanchar

(D) Shallabug

The botanical name of Chilgoza Pine is :
(A) Pinus roxburghii

(B) Pinus gerardiand

(C) Pinus wallichiana

(D) None of these

Which of the following is not an example of
primary succession 7

(A) Vegetation colonising old lava fields on a
volcanic island

(B)
©)
(D)

Moss growing on mountain cliffs
galt marsh vegetation on a mud flat

Grassland growing on the site of a previous
rainforest

In thermal stratification of water bodies, the
middle region which shows drastic temperature
change is called :

(A) Mesolimnion
(B) Epilimnion

(©) Metalimnion
(D) Hypolimnion



iLil:

12

i

14.

1.5,

16.

In cryogenic storage, seeds are stored at :
(A) -15°C

(B) -25°C

(C) —35°C

(D) -196°C

The word ecosystem was first used by :
(A) A.G. Tansley

(B) G.E. Hutchinson

(C) Charles Elton

(D)
The digestive enzyme found in saliva is called :
(A)
(B)
(©)
(D)

Which of the following is not part of large
intestine ?

(A) Colon
(B) Duodenum
(C) Caecum
(D) Rectum

Vladimir Vernadsky

Pepsin

Bile

Amylase

Both (A) and (B)

Leucocytes are also called :

(A) Red Blood Corpuscles

(B) White Blood Corpuscles

(C) Platelets

(D) All of the above

Tropical grasslands are also called :
(A) Prairies '
(B) Pampas

(C) Steppes

(D) Savannas

JJ-318-B
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18.

19.

20.

21.

According to Coulomb's Law, electrostatic force
between two static point charges ql and g2
placed some distance apart is not :

(A)
(B)

Inversely proportional to their product

Inversely proportional to the square of the
distance between them

(©)

Directed along the line joining the two
charged particles

(D)

The bending of light at the boundary of two
dissimilar media is called :

(A) Reflection
(B) Refraction
(C) Diffraction
(D) Total Internal Reflection

None of the above

At absolute temperature, the kinetic energy of a
gas is :

(A) Positive

(B) Zero

(C) Negative

(D) Both (A) and (C)

The acceleration due to gravity varies with :
(A) Latitude

(B) Height

(C) Depth

(D) All of the above

Discovery of electron is credited to :

(A) John Dalton

(B) Ernest Rutherford

(C) J.J. Thomson

(D) None of the above
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23.

24.

20

Which of the following is a property of acids ? 26. The enzyme that fixes atmospheric CO, in C4

(A)

Acids produce H' ions when dissolved in
water

(B) Acids have sour teste
(©)
(D)

The mass number of an atom is :

(A)

Acids are composed of hydrogen
All of the above

Number of electrons present in the nucleus
of an atom

(B)

Number of protons present in the nucleus
of an atom

(€)

Number of neutrons present in the nucleus
of an atom

(D)

Number of protons and neutrons present
in the nucleus of an atom

According to Boyle's Law :

(A) At constant temperature, the volume ofa
p
given amount of a gas is directly
proportional to its pressure

(B) At constant pressure, the volume of a given
amount of a gas is inversely proportional

to its temperature
(C) At constant temperature, the volume of a
given amount of a gas is inversely
proportional to its pressure
(D) At constant volume, the temperature of a
given amount of a gas is inversely
proportional to its pressure
Glaciers across high mountain Asia are retreating

except those located in :
(A) Karakoram

(B) Tibetan Plateau
(C) Eastern Himalaya
(D) Western Himalaya

JJ "3 1 8“‘B

27,

28.

29:

30.

plants is :

(A) Aldolase

(B) Hydrogenase

(C) PEP carboxylase

(D) Amylase \

The highest amount of Carbon is stored in :
(A) Atmosphere

(B) Soil

(C) Oceans

(D) None of these

The ultimate source of energy in an ecosystem
i8.:

(A) Sunlight

(B) Nutrients

(C) Food

(D) Water

Which of the following can be used to reconstruct

past climate ?

(A) Tree rings

(B) Ice cores

(C) Lake sediments

(D) All of these

The normal lapse rate is 6.5°C per :
(A) Kilometer rise in altitude

(B) Kilometer fall in altitude

(C) Mile rise in altitude

(D) Mile fall in altitude



31. The phenomenon in which temperature increases 36.

with increasing altitude is known as :
(A) Temperature anomaly

(B) Temperature inversion

(C) Lapse rate

(D) Insolation

32. Tropospheric ozone formation results due to the
chemical reactions between :

(A) Oxides of nitrogen and volatile organic
compounds in the presence of sunlight

(B) Oxides of sulphur and volatile organic
compounds in the presence of sunlight

(C) Oxides of carbon and volatile organic
compounds in the presence of sunlight

(D) Oxides of nitrogen and volatile organic
compounds

33. What is the median of following series :
T80 17, 19, 16, 15 7

(A) 15
(B) 16
(C)F 17
(D) 19
34. Square of standard deviation is called :
(A) Harmonic mean
(B) Variance
(C) Mode
(D) 2% quartile

35. Arithmetic mean is :

40.

(A) Affected by extreme values

(B) Not affected by extreme values *
(C) Both (A) and (B) '
(D) None of these

JJ-318-B 5

3

39

Sum of deviations of values from their mean is

always :
(A) 1
(B) 0
(C) 2
(D) 3

The output of an AND gate with three inputs, A,

B, and C, is 'high' or 'l' when :

G At e L=
(B A IR0 =0
A= B= 1 ¢—1
(D)SA = I =fgNe—

A series of numbers in which each number is the
sum of the two preceding numbers is called :

(A) Fibonacci Series
(B) Taylor Series
(C) Laurent Series

(D) Hypergeometric Series

C ) T, ] :
What is 'a', if B :[2 } is a singular matrix ?
a

(A) 5

(B) 6

(G

(D) 8

If |A| = 0, then A is a :
(A) Zero matrix

(B) Singular matrix
(C) Non-singular matrix

(D) None of these
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41. The father of supercomputer 15k 47.
(A) John Neumann
(B) Charles Babbage
(C) Seymour Cray
(D) Adam Dunkels

42. A computer on the network that 1s used for 4g
sharing resources with others is called :

(A) Workstation

(B) Client

(C) Server

(D) Mainframe 49.
43. The binary form of decimal number 125 G

(A) 1111001

(B) 1111110

(C) 1111111

(D) 1111101
44. Rows of a relation are called.

(A) Tuple '

(B) Entity

(C) Data structurc

(D) Schema Sila

S0

45 What is the second most abundant element in
Earth's crust ?
(A) Nitrogen
(B) Oxygen
(C) Carbon
(D) Silicon o
46. Carbon sequestration 15 achicYed through :
(A) Rocks
(B) Soils
(C) Plants
(D) All of the above

JJ-318-B 6

A stream weathers and erodes its channel and
floodplain by :

(A) Hydraulic action

(B) Abrasion

(C) Solution

(D) All of the above

New lithosphere forms and spreads outward at :
(A) Divergent boundary

(B) Convergent boundary

(C) Transform plate boundary

(D) None of the above

Humus is mostly concentrated in which horizon ?
(A) O-horizon

(B) B-horizon

(C) C-horizon

(D) A-horizon

Which of the following is primary factor that
affects the rate of weathering ?

(A) Topography

(B) Climate

(C) Volume

(D) Biological organisms

Which of the following are types of water
erosion ?

(A) Rill erosion

(B) Gully erosion

(C) Both (A) and (B)

(D) Neither (A) nor (B)

Iand where the potential natural vegetation is

predominantly grasses, grass-like plants, forbs,
or shrubs is called as :

(A) Agricultural land
(B) Rangeland

(C) Forest land

(D) Wetland



. 53. The science of deriving information about an 57. Which among the following is a component of
' object from measurements made at a distance water cycle ?

from the object is called : (A) Evaporation

(A) Geographic Information Science (B) Runoff

(B) Information Science (C) Precipitation

(C) Remote Sensing (D) All of the above

(D) None of the above 58. A graph plotting discharge versus time is called :

54. Which of the following is not a component of (A) Hydrogram
Geographic Information Systems ?

(A) Software
(B) Hardware
(C) Query
(D) People

(B) Hydrograph
(C) Discharge
(D) Streamflow

59. Process by which the water vapour escapes

from the living plant leaves and enters the

55. The contour lines connect points of equal : atmosphere is called :

(A) Distance (A) Evapotranspiration

(B) Angle‘ (B) Evaporation
(C) Elevation (C) Transpiration
(D) Area

(D) Potential evaporation
56. First satellite based remote sensing programme

for broad-scale observation of the Earth's land

Flash floods are characterised by :

areas was ° (A) Rapid rises in water levels
(A) SPOT ; (B) Devastating flow velocities
(B) Landsat : (C) Neither (A) nor (B)

(C) IRS (D) Both (A) and (B)

(D) Geoeye-1

JJ-318-B 7




What is the decimal equivalent of 1 1001107

(A) 104

®B) 106

(C) 108

@ 102

The binary equivalent of §19is:

(A) 1100110011

(B) 1100110001

(C) 1010101010

(D) 1001100101

The difference between memory and storage 1s
that :

(A) Memory istemporary and storage is permanent
(B) Memory is slow and storage is fast

(C) Memoryis permanent and storage is temporary
(D) None ofthe above

When was Google Chrome first Jaunched ?

(A) 2000

B) 2008

(C) 2004

D) 2006

Which of the following has the lowest infiltration
capacity 7

(A) Pasturelands

(B) Farmlands

(C) Built-up

(D) Forest lands

Tundra biome is characterized by :

(A) Tree grmfthhhderedbyﬂmmldtemperams
and short growing seasons

Tree growth hindered by scanty rainfall and
deficiency in soil nutrients

Tree growth hindered by scanty rainfall and
acidic soils

(D) Noneofthe above

Hemis High Altitude National Park is famous for:
(A) Black bear

(B) Snow leopard

(C) Brownbear

(D) Markhor

B)

(©)

HFO-848-D

® a2

11.

13

14,

Accumulation of urea and other waste substances in
the blood is called :

(A) Hemodialysis

(B) Cystitis

(C) Urethritis

(D) Uremia

Which of the following is the state bird of T & K7
(A) Black crested bulbul

(B) Hillmyna

(C) Black necked crane

(D) White throated kingfisher

. Lysimeterisan instrument to measure .

(A) Evapotranspiration

B) Transpiration

(C) Infiltration

(D) Evaporation

Hydropower potential depends upon which of the

following parameters .

(A) Streamflow

(B) Head

(C) Both(A) and (B)

(D) Noneofthe above

Hydrograph isa graph:

(A) Showing the temperature Versus time

(B) Showingthe rainfall versus time

(C) Showing the rate of flow versus time past a
specific pointin ariver

(D) None ofthe above

Which ofthe following are soil conservation Measui=s

to arrest erosion ?

(A) Ploughing

(B) Trenching

(C) Contour plowing

(D) Allofthe above

Qand dunes are formed by which type of erosion.:

(A) Ravine erosion

(B) Guillyerosion

(C) Sheet grosion

(D) Aeolian erosion



15.

16.

17,

18.

19

20.

HFO-848-D

What is the major land use and land cover of cold

desert region of Ladakh 7 22.

(A)
(B)

Rocky terrain

Agriculture

(C) Sand dunes

(D) Forests

The term ecosystem was first used by Arthur George
Tansleyin:

(A) 1930

(B) 1945

(C) 1950

(D) 1933

Which of the following is not dicotyledonous ? 24,

(A) Mango

(B) Castor

(C) Pea

(D) Rice

The seed coat is formed from :
(A) Endosperm

(B) Integuments

(C) Ovary

(D) None of the above
Phenyl Mercuric Acetate resultsin :
(&) Enhanced Transpiration
(B) Reduced Transpiration
(C) Reduced Imbibition

(D) Reduced Respiration 26.

Soils that are formed in volcanic ash and contain
aluminium organic compounds are known as :

(A) Alfisols

(B) Entisols

(C) Gelisols

M) Andisols 27.

Ifthe order of matrix Ais m x p and the order of B
isp * n. Then the order of matrix AB is 7

(A) nxm

(B) mx=n

(C) nxp

(D) mxp

() te

(e
n

n! o
m-
(A) n(n-1)(n-2)
(B) n!
(€) (m-3)!

®) nn-1)@n-2)@0-3)

Roots of quadratic equation w*—3x=0, will be
(a) 3

B 0,-3

ey a3

(D) Noneof these

What is the value of x in the exponential equation
g+e*=107

(A) 4

B) 3

(C) 2

D) 3

Which of the following is false about the Correlation
Coefficient ?

(A) Varies between(to 1

(B) Describe degree of association between two
variables

A positive value indicates arise in one variable
accompanies a rise in the other

(D) Isdenoted by the symbol “r”

Which of the following is not a measure of the central
tendency ?

(A) Variance

(B) Mean

(C) Mode

(D) Median

Marks of the Geoinformatics paper follow a normal
distribution with a mean of 65 and a standard
deviation of 12. Approximately what proportion of
the students have scores below 507

(A) 51%

B) 11%

(C) 89%

D) 15%

(©)
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30.

L4 1

32.

Which of the following are true about the normal
distribution ?

(A) 58.6% of the observations lie between the

mean and one standard deviation

(B) The mean, median, mode and variance of a
normally distributed data area same

99.7% of the observations lie between the
mean and three standard deviations

Mone of the above

©
(D)

Indicate the correct arrangement for electromagnetic
radiations in order of their increasing wavelength :
(A) X-rays, Visible, Infrared, Microwave

(B) Visible, Infrared, Microwave, X-rays

(C) X-rays, Infrared, Visible, Microwave

(D) Microwave, Visible, Infrared, X-rays

Light travels slower in glass than inair because :
(A) Refractive index of air is greater than that of
glass

Density of glass greater than that of air

(C) Refractive index ofair is less than that of glass
(D) Density of glass is less than that of air

The Acceleration due to gravity iszero at :

(A) Theequator

(B) Poles

(C) Sealevel

(D) The center of the earth

The temperature at which a ferromagnet m aterial
becomes paramagnetic is called :

(A) Neutral temperature

(B) Inversiontemperature

®)

(C) Curie temperature

(D) None of the above

The number of neutrons in the radioactive isotope of
hydrogen s :

(A) 2

B) 0

() 3

D) 1

HFO-848-D

34,

35

36.

37.

39.

40.

According to Arrhenius Concept, acids are :

(A) Protonacceptors

(B) Compounds which give hydrogen ion

(C) Protondonor

(D) Compounds which give hydroxyl ion
Methanol and ethanol are miscible in water due to
(A) Covalent character

(B) Oxygenbonding character

(C) Hydrogen bonding character

(D) WNone of the above

The average kinetic energy of an ideal gas per
molecule in ST units at 25°C will be

(A) 61.7 x107%]

B) 6.17x 107

(€C) 7.16 x 1077 ]

D) 6.17 = 107017

GIS deals with which kind of data ;

(A) Spatial data

(B) Numeric data !
(C) Binary data

(D) Complex data

Remote sensing techniques make use of the which
of the following :

(A) Electric waves

(B) Electromagmetic waves

(C) Soundwaves

(D) All ofthe above

GPS is used for which of the following data :

(A) Altitude

(B) Latitude

(C) Longitude

(D) All ofthe above

The science of map-making is known as 7

(A) Cartography

(B) Remote Sensing

(C) GIS

(D) Geomatics




#

41.

42,

43,

44,

43.

46.

47.

The branch of geology dealing with the studies of

fossilsis:

(A) Geomorphology

(B) Stratigraphy

(C) Archaeology

(D) Palaeontology

The instrument used for reading the intensity of

earthquake wave is called :

(A) Hygrometer

(B) Seismometer

(C) Seismogram

(D) Seismograph

The limestone deposits which grow upwards from

the floor of underground cave are known as :

(A) Stromatolite

(B) Stalactite

(C) Stalagmite

(D) Column

Ozone layeris located in 7

(A) Troposphere

(B) Stratosphere

(C) Thermosphere

(D) Mesosphere

The Plio-pleistocene sediments of Kashmir valley are
"knownas:

{A) Verinag formation

(B) Lolabformation

(C) Karewa formation

(D) Zewan formation

Major constituent of the Earth’s atmosphere is:

(A) Oxygen

(B) Argon

(C) Carbon Dioxide

(D) Nitrogen

Threat of global warming is increasing due to the

increasing concentration of ;

(A) Carbon dioxide

(B) Black carbon

(C) Particulate matter

(D) Sulphurdioxide

HFO0-848-D

45,

50.

5L.

Ln
Lad

54.

® n

Kyoto Protocol is linked to :

(A) SDGs

@) UNCCCD

(C) Montreal Protocol

(D) UNFCCC

Which of the following is a sub-species of European
red deer found in Kashmir ?

(A) Hangul

(B) Markhor

(C) Chiru

(D) Tbex

Lines on a map connecting places having same
amount of rainfall are called :

(A) Isotherms

(B) Isobars

(C) Contours

(D) Isohyets

Which of the following is not a tributary of Indus
river ?

(A)
(B)

Sutlej

Beas

(C) Jhelum

(D) None ofthe above

Lignite deposits in Kashmir are found at :

{(A) Nichhama, Handwara

(B) Mokam, Anantnag

(C) Hipora, Shopian

(D) None ofthe above

Which of the following is a consequence of global
warming ?

(A) Melting of glaciers

(B) Increasing frequency and intensity of flooding
(C) Increasing glacial lake outburst flooding (GLOF's)
(D) Allofthe above

The process of nutrient enrichment in alake is termed
as:

(A) Limiting nutrients

(B) Enrichment

(C) Schistosomiasis

(D) Eutrophication

[Turn over
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56.
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How many Sustainable Development Goals (SDGs) 58.
have been agreed to, by all the world’s nations, as

part of the 2030 Agenda ?

(A) 17

®) 7

© 27 ##
(D) 14

The Total Dissalved Solids (TDS) in drinking water

can be reduced by the following method :

(A) Distillation

(B) Reverse OSMOSIS

(C) Ton exchange 60.

@) Allofthe above

Which of the following minor forest produce in J&K
has tremendous medicinal importance ?

(A) Dioscorea

(B) Hazelnut

(C) Resin

(D) Oleander

@ e

Which of the following are floating ocean plants and

animals 7

(A) Nekton

(B) Benthos

(C) Plankton

(D) Terrenus

Fnvironmental flow isprovided withinariver, wetland

or coastal zone 10

(A) Promote ecotourism and water sports

(B) Round the year hydropower generation

(C) Promote climate change mitigation and
adaptation

(D) Maintain healthy aquatic ecosystems and
ensure sustainability of their services

The melting of glaciers inHimalaya underthe changing

climate will inthe long run most likely resultin which

ofthe following scenarios

(A) Decreasein the frequency and magnitude of
disasters

(B) Increase the water supplies inthe Himalaya

(C) Adversely impact the food, water and energy
security

(D) Allofthe above
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Which-ofthe following is not an internet browser ? 7.
A) Chrome '

(B) Internet Explorer

(C) Firefox

(D) Python

DBMS don’t use which of the following database g
structure ?

(A) Hierarchical model

(B) Network model

(C) Topologicymodel .

(D) Relational model

Which of the following is not an example of the
spreadsheet software ?

(A) MSExcel

(B) Lotus

(C) Xoom Office

D) IMS

Bytecode s : : 10.

A) A compiler that produces an independent
ex:‘,cutableﬁﬁle Sl

(B) Isnotamachine code and thus, not tied to any
particular hardware

(C) A datatypein C programming language

(D) A Database Management System

Universe began :

(A) 4hbillionyears ago

(B) 10-15 billion years ago

(©) . Lbillion years ago-

(D) 5-8billion years ago

Which of the following divisions of the geologic time

scale is an era of the Phanerozoic eon ?

(A) Paleozoic

(B) Paleocene

(C) Permian

(D) Proterozoic

11.

12.

On an average, how thick is the crust of earth ?

(A) 100km

B) 40km

(C) 150km

(D) 92km

The core of earth is thought to be composed of ;

(A) Granite

(B) Basalt

(C) SolidIron-Nickel alloy

(D) Peridotite

Which of the following is not a measure of soil

conservation ?

(A) Mulching

(B) Tillage cropping

(C) Checkdams

(D) Pruning

Land capability classification is based on which of

the following properties ?

(A) Soil fertility, climate, topography and water
availability

(B) Geology, drainage, weathering and
geomorphology

(C) Climate, vegetation, glaciers, population

(D) All ofthe above

Soil erosion is associated with :

-(A) Frost shattering and heaving

(B) Rillsandravines

(C©) Floods and water logging

(D) Snowavalanches

Soil texture influences which of the following ?

(A) Hydrologic properties

B) Climatic processes

(C) Tectonic processes

(D) Magmatic properties



13.

14.

15.

16.

17

18.
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Remote sensing does not use which region of 19.

electromagnetic radiation for sensing ?

(A) Visible near-infrared

(B) Thermal infrared

(C) Microwaves

(D) Radiowaves

Digital topographic data in the form of DEM is
generated from :

(A) Contours =

(B) Thermal remote sensing data

(C) Intensity images

(D) Alloftheabove

Which of the following is not an application of
Remote Sensing ?

(A) Crustal deformation studies

(B) Weather monitoring studies

(C) Water quglity mapping 2o

(D) Sub-surface studies

Geographic Information System :

(A) Uses satellite data

(B) Integrates data from various sources
(C) Isadatabase management system
(D) Alloftheabove

Which of the following is the largest reservoir of E
water 7

(A)  Groundwater

B) Lakes

(C) Rivers

(D) Atmosphere 24.

The average annual rainfall of Srinagar is around :
(A) 1000 mm

B) 700mm

(C) 1500 mm

D) 1800mm

I W

20.

21.

3,

Lysimeter is a hydrological instrument used to
measure :

(A) Evaporation

(B) Infiltration

(C) Evapotranspiration

(D) Interception

Anisohyetisa line joining :

(A) Equal precipitation intensity

(B) Equal precipitation depth

(C) Equal storm duration _

(D) Equal height of precipitation stations

The residence time of CO, in the atmosphere is of
the order of :

(A) 24-72 hours

B) 30-95 Years

(C) 1-2months

D) 7-15 days

COP21 meeting negotiated the Paris agreement on
climate change that sets out global action to limit the
global warming to below : :

A) 2°C

B) 1°C

(Cy 3°C

(D) None ofthe above

The Indian Water Pollution Act (Prevention &
Control) came into the force in the year :

A) 1972

®B) 1977

(C) 1956

D) 1974

Which of the following statements is false about the
Sustainable Development Goals (SDGs) ?

(A) No Poverty

(B) Quality education
(C) Zerohunger

(D) None ofthe above
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26.

7.

28.

29;

30,

Which of the following is not an essential element of
the map composition ?

(A) Legend

B) Scale

(C) North direction

(D) Path/row

InJ &K State, the dominant forest typeis:

(A) Himalayan moist temperate forest

(B) Himalayan dry temperate forest

(C) Sub tropical dry evergreen forest

(D) All ofthe above

Black-necked crane is found in which ofthe following
wildlife parks ?

(A) Dachigam

(B) Kishtwar

(C) Changthang

(D) Hemis :

The State has an identified potential for geothermal
energyin

(A) Kashmirvalley

(B) Pugavalley

(C) Chintavalley

(D) Suruvalley

The enzyme that fixes atmospheric CO, in C4 plants
is:

(A) Aldolase

(B) Hydrogenase ~

(C) PEP carboxylase

(D) RUBP carboxylase

32

33.

34.

36
What is the primary route of mineral absorption by

roots ?

(A) Roothairs

(B) Cortex of the root
(C) Epidermis of'the root
D) Céispau'anL strips

FDM-2557-A

Epigeal germination is found in :

(A) Pea !
(B) Gram |
(©) Castor ‘
D) Jowar |
During cellular respiration, NADH is :

(A)
®)

Used in electron transport system

Converted to NAD+ by an enzyme called
dehydrogenase

Reduced to form NAD+

None of'the above

©)
D)
Which of the following is both an endocrine and
exocrine gland ?

(A) Pancreas l
(B) Adrenal

(C) Pituitary

(D) Thyroid

Bile contribution to digestion is :
(A) Nucleic acid metabolism
(B) Phagocytosis

(C) Emulsification of dietary lipids
(D) Carbohydrate digestion

Which of the following is nota biogeographical realm ?

(A) Palaearctic

"(B) Nearctic

(©) Paleotropic

(D) Chapparral

Which of the following animals has four horns ?

(A) AlcesAlces

(B) Tetracerus Quadricornis L
(@) Antilope Cervicapra
(D) Pseudonis Nayaur



3.

38.

39.

40.

41.

Which of the following has the greatest covalent 42.

character ?
(A) NaCl
B) MgCl,
(C) AlCL
(D) SiCl,

A gasabsorbs a photon of 355 nm and emitsattwo  43.

wavelengths. If one of the emissions is at 680 nm,
the otherisat:

(A) 518mm

B) 1035nm

(C) 325mm

(D)
Anatomhas amassnumberof 23 and atomicnumber 11.
The number of protons are :

A 1

® 12

© 23

D) 44 45.

Which of the following salts is basic in nature ?
(A) NH,NO,

(B) Na,CO,

(© NaSO,

D) NaCl

Fleming’s left hand rule is used to find :

(A)
®)

Direction of flux in a solenoid

Direction of forces on a current carrying

conductor in a magnetic field 46.

©)
D)

Polarity of amagnetic pole
Direction of magnetic field due to current

carrying conductor

FDM-2557-A S

743 nm 44,

What is the magnetomotive force in a 75-turn coil of
wire when there is 4A of current passing through it ?
(A) 18.75At

B) 300At

(C) 40At

D) 187At

Which law states that the internal energy of a gasis a
function of temperature ?

(A) Charles’ law

(B) Joule’slaw

(C) Regnault’slaw

(D) Boyle’slaw

Which of the following wavelength ranges is
associated with UV spectroscopy ?

(A) 0.8-500 um

B) 380-750nm

(C) 100-400nm

D) 0.1-10nm

The distribution of heights of students in a class is
roughly bell-shaped. Moreover, the average Height
is 68 inches and approximately 95% of the heights
are between 62 and 74 inches. The standard
deviation of the height distribution is approximately :
A 12

B) 9

€ 6

D) 3

Ifn is a positive integer such that
n!/(n-2)!=342, findn.

A) 15

®B) 19

© 17

D) 18
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47.

48.

49.

50.

For what value of k will the two equations 5.

2x +4=4(x-2)and —x +k =2x — 1 have the same
solution ?

A) 11

® 7

© ——li

®) 17

Ifx is a negative number, which of the following must 5.

be true ?

O x<|x|

) x<V(=x)

I x-1/|x]<0

A @ gmd (I1Y) only

B) (), (D) and (III)

(C) (I)and (II) only

D) ) and (IIT) only

What is the sum of the reciprocals of the solutions to

the equation x>—(3/5)x=—11/3 : 54.

A) 3/11

B) 9/33

(€ 955 - h

D) 55/33

The amount of a radioactive material decays
according to the formula A(t) =A e™ where, A is

the initial amount, k is a positive constant and t is the

time in days. Find a formula for the half-life of the 55

material.

(A) T=mh2k

B) T=mhdk:

(C) T=mhk/10

(D) None ofthe above

FDM-2557-A 6
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The level of sound D in decibels is defined as

D=101log (1/107), where 1 is the sound intensity
in watts/cm? Determine the level in decibels of a
sound with intensity 1 = 10-8 watts/cm?

(A) 60 decibels

(B) 80decibels

(C) 120 decibels

(D) 10decibels

Find the 10th term of a geometric sequence if
a, =45 and the common ratior=0.2. -

(A) 4.601 x 102

(B) 2.304 x 102

(C) 2304 x10°

D) 2304 x 10°°

Pyranometer is the instrument which measures the :
(A) short wave radiation

(B) sunshine hours

(C) humidity

(D) albedo

Relative humidity of the air is defined as the ratio of ;
(A) actual vapour pressure to the saturation vapour
pressure at 0°C

(B) weight of water in unit volume of air to the
weight of air in the same volume

(C) actual vapour pressure to the saturation vapour
at the air temperature

(D) actual vapour pressure to the atmospheric
pressure '

The climate of the Kashmir valley is mainly determined -
by :

(A) Westerlies

(B) Tradewinds

(C) Southeast monsoons

(D) Southwest monsoons



56.

37,

58.

A measuring device which can be used to measure  59.

wind speed and direction is called :
A)
B)
©
®)

The Ozone layer is found in :

lysimeter
anemometer
rain gauge

none of the above

(A) Troposphere

(B) Stratosphere 60.

(C) Thermosphere

(D) Mesosphere

Which of the following is not a Greenhouse gas ?
(A) Carbondioxide

(B) Carbonmonoxide

(C) Methane

(D) Allofthe above

FDM-2557-A 7

Black carbon enhances the melting of Himalayan
glaciers as the black carbon deposition :

(A) Decreases the albedo causing positive radiative
forcing

(B) Increases the albedo causing negative radiative
forcing

(C) Results in acid rains in the ablation zone

(D) All ofthe above

Which of the following is an important non-timber
forest produce in Kashmir forests ?

(A) Resins

(B) Mushrooms

(C) Dioscorea

(D) Allofthe above
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L. Arrange the following gases present in atmosphere in 7.

the decreasing order of volume

L. Helium II.  Oxygen
IIT.  Nitrogen IV. " Argon
A LILIIIv

B) I, IV, I

©) ILILIV,I

D) IV, 1L I %
2. Which ofthe following latitudes passes through India ?

(A) Tropic of Cancer

(B) Equator

(C)  Tropic of Capricorn

(D)  Arctic Circle 9.
3. The following factor(s) is (are) responsible for

degradation of soil

(A) Chemical fertilizers

(B) Landslides

(C)  Floods

(D) Alloftheabove
4. Thick blue line in map is usually used to show Vil

(A) Hydro-electric power station
(B) Stream
(C) River
(D) Damaxis
5. Salim Ali National Park is situated in which State of

India?
(A) Jammu and Kashmir 11.
(B) Assam

(C) Karnataka
(D) Nanital, Uttarakhand

6. In the State of Jammu and Kashmir good quality
sapphire deposits are found in

(A) Sanku, Dras ’
(B) Poddar, Kishtwar
(C)  Uri, Baramulla
(D) Lolab, Kupwara

DAJ-11112-B ‘ 2

Konsarpag is situated in which of the mountain ranges

of Jammu and Kashmir ?

(A)
B
©
(D)

Harmukh Range
Great Himalayan Range
Pir Panjal Range

None of the above

Which of the following is an application of the GIS?

(A) Land information system

(B)  Traffic navigation system

(C) Banking information system

(D) Both(A)and (B)

Which of the following are the optical remote sensing

sensors?

(A) LISS

B) ™

(C©) MSS

(D) Allofthe above

Pyranometer is the instrument which measures the:

(A)  Solarradiation

(B)  Sunshine hours

(C)  Humidity

(D) Albedo

Relative humidity of the air is defined as the ratio of:

(A)  Actual vapour pressure to the saturation vapour
pressure at 0°C

(B)  Weight of water in unit volume of air to the
weight of air in the same volume

(C)  Actual vapour pressure to the saturation vapour
pressure at the air temperature

(D)  Actual vapour pressure to the atmospheric

pressure



Rainfall Hyetograph represents:

(A) A plotof rainfall depth or intensity as a function

oftime
(B) A plot of summation of rainfall increments as a
function of time
(C) Depth ofrrainfall per unit time
(D) None of the above
13.  GPS is used for determining which of the following
parameters?
(A) Altitude
(B) Latitude
(C) Longitude
(D) Alloftheabove
14. A measuring device which can be used to measure the
amount of actual evapotranspiration by the plants is
called:
(A) Lysimeter
(B) Anemometer
(C) Raingauge
: (D) None of the above
15. Inastrongly skewed data distribution, which measure
is the most unreliable indicator of central tendency?
(A) Range
(B) Median
(C) Mean
(D) Mode
16. Correlation Coefficient varies between:
A +1&-1
B) +1&0
) -1&0
(D) None of the above
DAJ-11112-B

18.

19.

21.

22.

Given the set of data [12, 16, 18,13, 7,9, 11, 14, 20]

what is the standard deviation?

(A) 4.18
(B) 5.85
(C) 1755
(D) 5.56

The standard error is a statistical measure of*
A)

The degree to which a sample has been

accurately stratified

(B) The extent to which a sample mean is likely to
differ from the population

(C) Both(A)and (B)

(D) None of the above

What comes next in the sequence: 2,4, 10,28,  ?

(A) 64

B) 70

<) 76

(D) 82

If x=-1, then what is the value of the function

fx)=x>+4x+12?

&) 17 ®B) 9

< 7 (D) 23

If logarithm of 5832 be 6, find the base

A) 3\2 B) 2V5

© 2 (D) 3

If A and B are matrices, then which from the following
is true ?

(A) A+B #B+A

(B) (A)#A

(C) AB #BA

(D) Allofthe above
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25.

26.

28.

The acceleration due to gravity near the surface of

a planet of radius R and density d is proportional to:

(A) dR?

B) dR?

€ dR

(D) dR

In which of the following cases the potential energy is
defined?

(A) Conservative and non-conservative forces
(B) Conservative forces only

(C) Non-conservative forces only

(D) Neither of the above

A cycle tyre bursts suddenly, this represents an:
(A) Isothermal process

(B) Isobaric process

(C) Isochoric process

(D)  Adiabatic process

The wavelength of the sunlight is

(A)  400-7G0 nanometers

(B)  400-700 micrometers

(C) 10-12.5 centimeters

(D)  700-900 millimeters

In which of the following hydrogen bond is present?
A H,.

B) Ice

(C)  Sulphur

(D) Hydrocarbon

Bohr’s theory is applicable to

(A) He

(B) - Li¥

) He*

(D) None of'the above

DAJ-11112-B

29.

31.

Which of the following acts as both an oxidizing as

well as reducing agent?

(A)
®)
©)
(D)

The energy of an ideal gas depends only on its:

(A)
®)
©
(D)

A teleprinter terminal is an example of:

(A)
®)
©)
(D)

Program which exactly performs operations that

manual says is classified as:

A)
®)
©
(D)

A collection of related fields is called

(A)
®)
©)
D)

Decimal equivalent of (101011)2 is:

(A)
®)
©)
D)

HNO,
HNO

2

HI
H. SO,

Pressure
Volume
Number of moles

Temperature

Input device
Output device
Both (A) and (B)

Storage device

Stable functioning
Robust
Reliable

None

Tuple
Field
File

Database

42
43
44
45



35. A high Biological Oxygen Demand (BOD) indicates:
< (A) Low level of microbial pollution
(B) High level of microbial pollution
(C)  Absence of microbes
(D) None
36. UNFCCC came into force on
(A) 21%February, 1994
(B) 21 March, 1994
(€©) 21%April, 1994
(D) 21+ May, 1994
37. Fill in the gap. MDG6 is to combat HIV-Aids,
and other diseases.
(A)  Tuberculosis
(B) Malaria
(C) Diarrhoea
(D) - Cholera
38. The firstsustainable development goal aims to eradicate
extreme poverty. How does the UN currently measure
extreme poverty?
(A) People who are unemployed and unable to
access welfare benefits from the state
(B) People who live on less than $5 a day
(C) People who live on less than $1.25 a day
(D) People who claim to be living in poverty
39. National Disaster Management Authority of India was
formed in:
(A) 2002
(B) 2003
(C) 2004
(D) 2005
40.  CO, concentration at Mauna Loa Observatory touched
an all-time high 0f 400 ppm in:
(A) 2013
(B) 2014
(C) 2015
(D) 2016
DAJ-11112-B

42.

44.

45.

46.

47.

The biggest reservoir of carbon is:

(A)  Amazon rainforest
(B) Wetlands

(C)  Oceans

(D) None

Atmosphere does not play a significantrole in the cycling
of:

(A) Carbon

(B) Nitrogen
(C) Phosphorus
(D) Allofthese

In a food chain of a grassland ecosystem, the top

consumers are:

(A) Herbivores

(B) Carmivores

(C) Bacteria

(D) None

The pyramid of energy is:

(A)  Always upright

(B) Always inverted

(C)  Sometimes upright

(D) Sometimes inverted

The second longest glacier outside poles is:
(A) Biafo '
(B) Baltora

(C) Hispar

(D) Siachin

The vast majority of energy taken into an ecosystem
is

(A) Converted into biomass by plants
(B) Utilized by secondary consumers
(C) Lostas heat

(D) Used by the primary consumers
99% of'the atmosphere lies within

(A)  30km

B) 10km

(C) 70km

(D) 1km

[Turn over
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48, Variationsin the proportion of which of the following
gases in air is major concern of climate change?
(A) Carbon dioxide (B)  Nitrogen
(C) Oxygen (D) Argon
49, Oneofthe characteristics of troposphere is
(A) Constant temperature with altitude
(B) Decrease in temperature with altitude
(C) Increase in temperature with altitude
(D) Smallscale variation in temperature
50. Whatdoes the Stefan—Boltzmann’s radiation law state?
(A) Radiant heat energy emitted from a surface 1s
proportional to the fourth power of its absolute
temperature
(B) Radiant heat energy emitted from 2 surface 18
proportional to the square of its absolute
temperature
(C) Radiant heat energy emitted from a surface 1s
directly proportional to the power of its absolute
temperature
(D) None of the above
51. Dry steam power stations use geothermal steam of
—— degrees temperature to turn the turbines.
(A) >150°C (B) >1100°C
(C) =zthan 10°C D) = 100°C
52: Atmospheric pressure is generated by
(A) Earth’s rotation
®B) Earth’s revolution
© Gravitational force of the earth
(D) None of these
53. Whichismore suitable layer for flying of jet aeroplanes?
(A) Troposphere
®) Mesosphere
© Thermosphere
(D) Stratosphere
54. Generally speaking, the most destructive earthquake
waves are
(A) Pwaves
B) Surface waves
(C) Swaves
D) All of the above
DAJ -11112-B

55.

36.

59.

60.

‘When a volcano gjects an acid lava, eruption is usually¥
(A) Light and less violent

B) Softand less violent

©) Loud but less violent

D) Loud and more violent

An example of a rock whose minerals have been
crushed into thin sheets or bands is

(A) Shale

(B) Schist

©) Conglomerate

(D) Granite

Which of the following is the name of the partly melted
rock layer on which the plates move?

(A) Lithosphere

(B) Asthenosphere

© Hydrosphere

(D) Outercore

The San Andreas fault in California is aclassic example
of which of the following types of faults?

(A) Tear fault

B) Upthrust fault

©) Dip-slip fault

(D) Strike-slip fault

When the front of a glacier 18 stationary for 2 los
time, the glacier will do which of the following?

(A) Form many crevasses

(B) Build a large terminal moraine

(C) Me It away

(D) Not erode its bed

The Triassic, Jurassic and Cretaceous Peri

constitute what Geologic Era?
(A) The Precambrian

(B) The Mesozoic

© The Paleozoic

(D) The Cenozoic
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M.Sc. Geo-Informatics/A

1. Which of the following has the shortest access time ?
(A) Cache memory (B) Magnetic core memory
(C©) RAM (D) Magnetid bubble memory

2. Which of the following is not an Operating System ?
(A) Windows (B) 0S/2
(©)  Unix (D) LAN

3. Whichofthe following produces the best quality graphics reproduction ?
(A) Plotter (B) Laser priﬁter
(C) Dot matrix printer (D) Inkjet pribter

4. Which of the following is not a Binary Number ? |
(A) 001 (B) 202
g 101 (D) 110

5. Themost violent type of volcano is known as ;
(A) Hawaiiantype (B) Strambilian type
(C) Peleantype (D) Vesuvian type

6. Which ofthe following is not a feature of Mountain Glaciation ?
(A) Hom ' (B) Arete

(C) Cirque (D) Playas i

7.  The instrument used to record earthquake waves is called :
(A) Seismograph B) Seismoglﬁm
©) GPS D)~ None of the above
\
8.  Theerathat covers the longest span of time is : ‘
(A) Cenozoic (B) Precambri‘an

(C) Paleozoic (D) Mesozoic
\
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9. Which of the following Geomorphic features is created by Wihd Erosion ?
(A) Sand dune (B) The Grand Canyon
(C) Cindercone (D) Alloftheabove
10.  Which of'the following factors are used for Soil Classification ?
(A) Ageand parent material of the soil (B) ~ Structure of the soil
(C) Climate and drainage (D) All ofthe above
11. Which of the following is a land use and land cover classification system ?
(A) Anderson (B) GNSS
(C) GAGAN (D) Allofthe above
12.  Which of the following is not an example of the Soil Conservation Practice ?
(A) Contour farming (B) Mulching
(C) Terracing (D) All ofthe above
13. Microwave remote sensing operates in which of the following wavelength regions ?
(A) 400-700 nanometers (B) 400-700 micrometers
(C) 1-100 centimeters (D) 1.2-12.5 micrometers
14. Digital Elevation Model (DEM) is generated from :
(A) Remote sensing data (B) Topographic data
(C) Global positioning system (D) Allofthe aﬁove
\
15.  Which of'the following sensors is an example of Indian Remote Sensing Satellite ?
(A) LISS (B) ETM+
(C) MSS (D) PRISM |
!
16. Geoinformatics is the science that develops and uses information to address the
problems of : |
(A) Earth observation and Satellite sensor technology
(B) Computer science; software and hardware
(C) Geosciences, cartography, image processing and other related branches
of science
(D) Allofthe above
CWG-33099-A é [Turn over



17.  From the historical flood records, it could be safely said that the return period of
September 2014 flood was : |
(A) 100 year flood (B) 350 year flood
(C) 1000 year flood (D) None of the above
|
18.  Ahyetograph is a graphical representation of : ‘
(A) Discharge and time (B) Rainfall intensity and time
(C) Rainfall depth and time (D) Cumulativ# rainfall and time
19. A current meter is used to measure :
(A) Water discharge (B) Depthof ﬂpw of water
(C) Velocity of flow of water (D) Allofthe aPove
20. Atype ofrock with low hydraulic conductivity is called :
(A)  Aquifer (B) Aquitutde |
(C) Aquiclude _ (D) Aquitard |
21. Theresidence time of CO, in the atmosphere is of the order of :
(A) 24-72hours B) 30-95 yean;s
(C) 1-2months (D) 7-15days |
22, COP21 meeting negotiated the Paris Agreement on Climate Fhange that sets out
global action to limit the global warming to below : |
(&) 2°%C : B) I1°C
e B . e (D) Noneof thé‘; above
1
23. The Indian Water Pollution Act (Prevention and Control) came into force in the
|
year :
Ay 1972 B) 1977 ;
(€) 1956 ®) 1974
24. Which of'the following statements is false about the Millenju@ Development Goals
(MDGs)? |
(A) Poverty eradication (B) Universal primary education
(C) Halting the spread of HIV/AIDS (D) Nuclear cnéj:rgy promotion
CWG-33099-A 4
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25.  Which ofthe following is not amap clement ? |
(A) Legend (B) Scale |
(C) Annotation (D) Contour
26. Snow leopard habitat is spread over : ‘ _
(A) Theentire Kashmir valley (B) Theentire Qadakh region
(C) The entire Gilgit region (D) Allofthe above
27. Which of'the following mountain ranges is currently heavily glak:iated T
(A) PirPanjal (B) Greater Hﬁr?alaya
(C) Korakoram (D) Shamasbari
28. The critically endangered Kashmir stag, also known as Haﬁgul has currently a
population of about :
(A) 200 B) 100
(C) 500 (D) 1000
29. The process of manipulating the genes outside the normal reproductive process is
known as : \
(A) Genelinking (B) Genetic manipulation
(C) Gene targetting (D) Genome rcc?mbination
30. Succession that occurs on abandoned agriculture fields is best ﬁescribed as:
(A) Primary succession (B) Secondary succession
(C) Coevolution (D) Prairie succéFssion
31. Which ofthe following statements is correct ?
(A) Flower of'tulip is amodified shoot
(B) Eyes of potato tuber are root buds
(C) Themostreduced stem is found in rhizome {
(D) All ofthe above
32. Which of the following factors is the most influential in determining the rate of
transpiration ?
(A) Rain (B) Light
(C) Relative humidity of atmosphere (D) Water
CWG-33099-A 5
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The male and female brains have structural differences in which of the following ?

33
(A) Corpus callosum (B) Cerebral ¢0rtex
(C) Thalamus (D) Allofthese
34. The endocrine system can be controlled by which of the following ?
(A) Calcium (B) Topical hormones
(C) Glucose and sodium (D) Allofthese
35. How much blood does the average adult have ?
(A) 2litres (B) S5litres
(C) 10litres (D) 15litres |
36. The largest terrestrial biome on earthis the :
(A) Taiga (B) Tundra
(C) Deciduous forest (D) Desert
37. Fleming’s left hand rule is used to find :
(A) Direction of flux in a solenoid ‘
(B) Direction of forces on a current carrying conductori in a magnetic field
(C) Polarity of amagnetic pole |
(D) Direction of magnetic field due to current carrying conductor
38. What is the magnetomotive force in a 75-turn coil of wire¢ when there is 4 A of
current passing through it ?
(A) 18.75At (B) 300At |
(C) 40At D) 187At |
\
39. Which law states that the internal energy of a gasisa functiojn of temperature ?
(A) Charles’ law (B) Joule’s law
(C) Regnault’slaw (D) Boyle’s law
40. Which of the following wave length ranges is associated wit‘hUV spectroscopy ?
(A) 0.8-500 pm B) 380-750 Pm
(C) 100-400nm (D) 0.1-10nm
CWG-33099-A



41. According to the first law of thermodynamics :
(A) Total encrgy of an isolated system remains constant 1
(B) Total internal energy of a system during a process re}najns constant
(C) Word done by a system is equal to the heat transferred by the system
(D) Allofthe above |
42. Which of the following substances has a polar covalent bond between its atoms ?
(A) NaCl (B) Ca,N,
(C) NH, D) K,N
43. Which one of the following reactions is NOT a redox reaction 7
(A) Zn+Cu - Zn* +Cu B) L +2Fe* 1 2l + 2Fe”
(C) 2Mg+0,—2MgO (D) HCIl+NaOH — NaCl + H,0
44. The Total Dissolved Solids (TDS) in water can be reduced by the following
method :
(A) Distllation (B) Reverse osmosis
(C) Ilonexchange (D) Allofthe above
i
45. Which of the following is termed as “third pole’ ?
(A) Arctic (B) Antaractic
(C) Himalaya (D) None of th‘e above
46. FEnvironmental Impact Assessment (EIA) in India is mandatory under which of the
following legislations ? ‘
(A) Indian Forest Act
(B) Wildlife Protection Act
(C) Environment Protection Act
(D)  Air Pollution Prevention and Control Act
47. Which one of the following is not a gaseous biogeochemical ¢yclc in Ecosystem ?
(A) Phosphorus cycle (B) Carboncycle
(C) Nitrogen cycle (D) Sulphurcycle
48. 'Which one of the following is a glacier depositional feature ?
(A) Drumlins (B) Aréte
(C) Cirque (D) Hom
CWG-33099-A 7
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49.

50.

al,

52.

53.

54.

35

56.

CWG-33099-A

Which one of the following is correct order of layers in Atmqbsphere ?
(A) Troposphere, Stratosphere, Mesosphere, 'I'hermofsphere, Exosphere
(B)  Stratosphere, Troposphere, Mesosphere, Thermotfspherc, Exosphere
(C)  Stratosphere, Thermosphere, Exosphere, Tropospihere, Mesosphere
(D)  Stratosphere, Mesosphere, Troposphere, Thermosphere, Exosphere

Atmospheric pressure generated on the earth’s surface is du? to:
(A) Earth’srotation (B) Earth’srevolution
(C) Gravitational force of the Earth (D) None of the above

Which is the coldest place in India ?
(A) Leh (B) Manali ‘
(C) Siligun (D) Drass

Which of'the following causes rainfall in the north west part of India ?
(A) Western disturbances (B) Southwest monsoons
(C) Cyclonic depression (D) Retreating monsoons

The mean of the distribution is 14 and the standard deviation is 5. What is the value of

the Correlation Coefﬁcient ?
(A) 60.6% B) 45.6%
(C) 35.7% (D) 46.5%

The number of emergency cases in hospital for five days are als. 12,15,18, 16 and 14,

then variance of sample is :
A) 5 B) 7
(©) 11 D) 6.5
A distribution that leans sharply to the left (low side) and tails far out to the ri ghthas:
(A) Positive skewness (B) Negative skewness
(C) Positive kurtosis (D) Negative kurtosis

What percentage of scores falls within three standard deviations from the mean ?
(A) 50.5% ' B) 99.7%
(C) 95.4% D) 68.2%

8
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57,
respectively, then the nth term of corresponding Harmonic Progression is :
(A) a"=a+(n-1)d B) a*=l/a+(-1)d
(C) a"=a/l+(m-1)d (D) a“za/a+(n§-— 1)d
58. The roots of the quadratic equation x> —6x + 10 =0 are :
(A) Imaginary (B) Real
(C) Irrational (D) Equal
59. IfAB exists, then (AB)'is:
(A) A'B (B) B'A
(C) AB (D) None ofthe a’jpbove
60. For what value of k will the two equations 2x +4 =4(x —2) a;rvnd —x+k=2x-1
have the same solution ?
(A) 11 B) 7 ‘
© -1 D) 17
|
CWG-33099-A 2
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M.Sc. Geo-Informatics/A

1. Which ofthe following is an example of the computer secondary data storage ?
(A) Processorregisters (B) Processor cache
(©) RAM (D) Magnetic tape

2. Decimal equivalent of binary number 10101 :
A 1 B) 21
© 15 D) 7

3.  Theascending order of a data hierarchy is :
(A) Bit-byte-record-field-file-database
(B) Byte-bit-field-record-file-database
(C) Bit-byte-field-record-file database
(D) Bit-byte-file-record-field -database

4. Which ofthe following is an internet browser ?
(A) Internet Explorer (B) Safari
(C) Firefox (D) Allofthe above

5.  Theage of earth is currently thought to be :
(A) 6.5billionyears (B) 4.5billionyears
(C) 8.5hbillionyears (D) 2.5hbillionyears

6.  The layer that separates the earth’s crust from the core is the :
(A) Mantle (B) Lithosphere
(C) Atmosphere (D) None of'the above

7. Which planet is not known to have volcanoes ?
(A) Venus (B) Mars
(C) Satum (D) Earth

8. Drumblinis?

(A) Erosional feature of glaciers (B) Depositional features of glaciers
(C) Topographic featuresof Moon (D) Geomorphic features of Mars

CLM-53700-A
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9.  Which of the following is not a mineral ?
(A) Olivine (B) Calcite
(C) Limestone (D) Quartz
10. Land capability is a function of :
(A) Soil, topography and climate (B) Topography
(C) Climate (D) Alloftheabove
11.  Which of the following factors influences the erodibility of soils ?
(A) Slope (B) Vegetation
(C) Soil texture (D) Alloftheabove
12. Zone of maximum organic matter accumulation s the :
(A) A-horizon (B) B-horizon
(C) C-horizon (D) R-horizon
13. Optical remote sensing operates in which of the following wavelength region ?
(A) 400-700 nanometers (B) 400-700 micrometers
(C) 400-700 centimeters (D) 400-700 millimeters
14. Which of the following is a digital representation of the topography ?
(A) DIM (B) DGPS
(C) SAR (D) GIS
15. Which of the following satellites/sensors is an example of thermal sensing ?
(A) ASTER B ™
(C) MODIS (D) Alloftheabove
16. Geographic Information System :
(A) Isasensing technology
(B) Integrates data from various sources
(C) Synonymous to Information Technology
(D) Allofthe above
17. Which of the following is the largest reservoir of water ?
(A) Groundwater (B) Lakes
(C) Rivers (D) Atmosphere
CLM-53700-A 3
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18. The average annual rainfall of Srinagar is around :
(A) 1000 mm (B) 700 mm
(C) 1500 mm (D) 1800 mm
19. Lysimeter is a hydrological instrument used to measure :
(A) Evaporation (B) Infiltration
(C) Evapotranspiration (D) Interception
20. Anisohyetisalinejoining :
(A) Equal precipitation intensity
(B) Equal precipitation depth
(C) Equal storm duration
(D) Equal height of precipitation stations
21. Paddy cultivation leads to the release of which gas in the atmosphere ?
(A) Methane (B) Nitrous oxide
(C) Ozone (D) Hydroflourocarbons
22. Man and Biosphere program is affiliated with :
(A) TUCN (B) UNESCO
(C) WWF | (D) UNEP
23. The Indian Water Pollution Act (Prevention and Control) came into the force in the
year:
(A) 1972 B) 1977
(C) 1956 D) 1974
24. Which of the following statements is true about the melting of Himalayan cryosphere ?
(A) Ttshall impact the transboundary sharing of waters
(B) Itshall adversely affect the streamflows
(C) TItshall adversely affect the food security
(D) All ofthe above
25. The Himalayan Ibex is a type of :
(A) Goat (B) Deer
(C) Sheep (D) Horse
CLM-53700-A
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26. Tourism Carrying capacity of an area means its :
(A) Infrastructure capacity (B) Social capacity
(C) Ecological capacity (D) Alloftheabove
27. UN Millennium Development Goals are meant to :
(A) Reduce child mortality (B) Empowering women
(C) Poverty reduction (D) All ofthe above
28. Which region of the State has the highest hydropower potential ?
(A) Kashmirvalley B) Gurezavalley
(C) Chenab valley (D) Suruvalley
29. The process of successful establishment of a species in anew area is called :
(A) Sere (B) Climax
(C) Invasion (D) Ecesis
30. The ecosystem with the highest plant productivity is :
(A) Desert (B) Tundra
(C) Savannah (D) Tropical rain forest
31. Aprobeisused in which stage of genetic engineering ?
(A) Cloning (B) Screening
(C) Cleaving DNA (D) Recombining DNA
32. All ofthe following structures are present in the dicot seed except :
(A) Radicle (B) Endosperm
(C) Coleoptile (D) Seed coat
33. The male hormone testosterone is produced by :
(A) Leydigcells (B) Epididymis
(C) Vasdeferens : (D) Seminiferous tubules
34. Anexample of hermaphrodite is :
(A) Frog (B) Fish
(C) Earthworm (D) Hydra
CLM-53700-A 5 [Turn over




35. Axoplasmisthe:
(A) Blood plasma that nourishes a nerve
(B) Fluid external to the axon but inside the myelin sheath
(C) Cytoplasm of the dendrite
(D) Cytoplasm of'the axon

36. Which of the following animals is called a living fossil ?
(A) Sacculina (B) Polystomella
(C) Seacucumber (D) Peripatus

37. Which of the following has the greatest covalent character ?
(A) NaCl B) MgCl
(©) AlCL D) SiCl,

38. A gas absorbs a photon of 355 nm and emits at two wavelengths. If one of the
emissions is at 680 nm, the otheris at :
(A) 518nm (B) 1035nm
(©) 325nm (D) 743 nm

39.  Anatom has a mass number of 23 and atomic number 11. The number of protons

are : ~
@A 1 B) 12
(C) 23 D) 44

40. Which of the following salts is basic in nature ?
- (A) NH,NO, (B) Na,CO,
(C) Na,SO, (D) NaCl

41. Which of'the following is not a magnetic material ?
(A) Iron (B) Nickel
(C) Cobalt (D) Silver

42.  Which of the following bonds would show the strongest absorption in the IR ?

(A) Carbon-hydrogen (B) Oxygen-hydrogen
(C) Nitrogen-hydrogen (D) Sulfur-hydrogen
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43. Which of the following statements is correct ?
(A) Wavelength is directly proportional to energy
(B) Wavelength is directly proportional to frequency
(C) Wavelength is inversely proportional to frequency
(D) All of the above

44. What happéns to the gravitational force between two objects, if the mass of one

object is doubled ?
(A) Remainssame (B) Becomes double
(C) Becomes four times (D) Becomes half

45. Which of the following human activity has added the maximum carbon to the

atmosphere ?
(A) Bumingoffossil fuel (B) Deforestation
(©) Mining (D) Soilerosion

46. Why is it difficult to integrate the atmospheric nitrogen in the nitrogen cycle of the
biosphere ?
(A) Few organisms can directly utilize atmospheric nitrogen gas
(B) Nitrogen is not abundant in the atmosphere
(C) Living organisms quickly absorb nitrogen gas
(D) Oceans quickly absorb nitrogen gas

47. The boundaries between biomes are usually seen as :
(A) Gradudal transition zones
(B) Abrupt changes in vegetation but not of animals
(C) Abrupt changes in both vegetation and animals
(D) Distinct topographic barriers such as mountains and rivers

48. Which one ofthe following is a glacier erosional feature ?
(A) Drumlins . (B) Moraines
(C) Cirques - (D) Eskers

49. The “Coriolis force” is caused due to :

(A) Wind movements (B) Earth’s rotation
\ (C) Cyclones (D) Jetstreams
R
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50.  Western disturbances orginate from which sea ?
(A) Indian Ocean (B) Arabian Sea
(C) Dead Sea (D) Mediterranean Sea
51. How does the annual precipitation of Sriangar compare to that of Leh ?
(A) Same (B) Lower
(C) Higher (D) None ofthe above
52. Which of the following climatic controls is the most important ?
(A) Latitude (B) Longitude
(C) Continentality (D) Wind system
53.  Correlation Coefficient varies from :
(A)  0-1 (B) —Ito+1
<€ -1-0 (D) None ofthe above
54.  What is the standard deviation of the data set; [14,23,9,12,21,18,8]?
(A) 15.987 (B) 13.456
(©) 5.398 , (D) 7.876
55.  Under what circumstances should we be cautious about using the mean as the measure
of central tendency ?
(A) When the data is skewed
(B) When the data is positively skewed
(C) When the data is negatively skewed
(D) All ofthe above '
56.  Which of the following is true about the normal statistical distribution ?
(A)  99.7% of the data lies between +3c of the mean
(B)  95.4% of the data lies between +26 of the mean
(C) 68.2% of'the data lies between +1c of the mean
(D) All ofthe above
57.  Which of the following statements is not correct ?
(A) Log(2+3)=log(2x3) (B) Log,10=1
(©) Log,1=0 (D) Log(1+2+3)=logl +log2 +log3
CLM-53700-A
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58. Whatis the 30® term of the Arithmetic progression : 10, 7, 4, .... ?
A -97 B) -87
<o =77 D) -67

59. Which of'the following is not a quadratic equation ?
A x+1/x=5 B) x-3)2x+1)=x(x+5)
O E2)+)=x-DEx+3) O x-1)E-3)=x+5)x-1)

60. Find the determinant of the matrix :

5 -2 3

4 -1 -5

6 7 9

A 214 B) 300

(©) 364 D) 376
CLM-53700-A
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2012

Which of the following is not an operating system ?

(A) Windows Vista (B)  RedHat Linux

M.Sc. Geoinformatics/A

(C) Mac0OSX (D)  Microsoft office XP

The errors that can be pointed out by the compilerare :

(A) Syntax error B) Symantic error
(C) Logical error (D)  Internal error

Which of the following is not a database management system ?
(A) Relation database management system
(B)  Object oriented database management system
(C) Network database management system
(D) Raster database management system

Which of the following performs modulation and demodulation ?
(A) Fibre optics (B) Modem
(C) Coaxial cable D)  Satellite

The rigid outer most laycr of the earth is called :

(A) Lithosphere (B)  Outer core

(C)  Asthenosphere (D)  Mantle

The Moho is located between :
(A) Inner and outer core
(B)  Crust and Mantle
(C)  Lithosphere and Asthenosphere
(D) Continental slope and abysmal plain

The most common mineral in the earth’s crust is -
(A) Olivine (B)  Feldspar

(C) Quartz (D)  Hornblende

Fossils are most common in which type of the rocks ?

(A) Igneous (B)  Sedimentary
(C) Metamorphic (D)  Allofthe above
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9. Which of'the following is a measure of soil conservation ?

(A) Mulching (B)  Tillage cropping
(C) Check dams (D)  Allofthe above

10. Land capability classification is based on which of the following properties ?
(A) Soil fertility, climate, topography and water availability
(B) Geology, land degradation, weathering and geomorphology
(C) Climate, vegetation, glaciers, population
(D) None ofthe above

11.  Soil erosion is associated with :
(A) Dunes and heaving
(B) Rillsand ravines
(C) Floods and water logging
(D) Landslides and avalanches

12, Soil texture influences which of the following ?
(A) Hydrologic properties (B)  Climatic processes
(C) Tectonic processes (D)  Magmatic properties

13.  Microwaves used in remote sensing have : .
(A) Nanometer wavelength (B) Micrometer wavelength
(C)  Centimeter wavelength (D)  Allofthe above

14. Digital Elevation Model is arepresentation of :
(A) Electromagnetic radiation ®B) Surface topography
(C) Mountain orography (D)  Land surface processes

15. Which of the following is an example of the high spatial resolution satellite ?
(A) NOAA (B) MODIS
(C©) LANDSAT (D) IKONOS

16. Global Positioning System is used for determining the :
(A) Location and altitude (B)  Crustal deformation
(C) Height of the tree canopies (D)  Allofthe above

CZB-29326(A) 3 [Turn over



17.

18.

19.

20.

21.

22.

23.

Lysimeter is used to measure :
(A) Precipitation (B)  Soil moisture
(C) Evaporation (D)  Evapo-transpiration

What does a hyetograph display ?
(A) Variations in snowfall over time
(B)  Variations in river discharge over time
(C) \Variations in water temperature over time
(D)  Variations in rainfall over time

Hard water contains hi gh concentration of :
(A) Silicon , ' B) lead
(C) Cadmium (D)  Calcium

Hydropower potential estimation is dependent on :
(A) Head (B)  Stream flowand velocity
(C) Gravity (D)  Allofthe above

Which of the following international conventions is for the protection of Ozone

layer ?
(A) UNFCCC ' B) CBD
(C) UNCCD (D)  None ofthe above

The algal bloom in the lakes isdue to :
(A) Increase in the greenhouse gases attributed to Climate change
(B) Explosive increase in Cyanobacteria
(C)  Growth of certain fungi in humid conditions
(D)  Excessive loading of heavy metals

The J&K and other Himalayan states are highly vulnerable to earthquake disasters
because of :
(A) Thehighreliefand mountainous terrain
(B)  Thestress generated by continued northward movement of the Indian plate
(C) Thehigh volcanic activity in the region
(D)  The tempering of nature by humans

CZB-29326(A) 4



24. Snow and glacier melt constitutes :
(A)  Almost half of the stream-flow discharge in J&K state
(B) The entire stream-flow discharge in the J&K state
(C) Negligible proportion of the stream-flow discharge in the J&K state
(D) None ofthe above

25.  Which of the following is an example of Choropleth maps ?
(A) Population density map (B)  Drainagemap
(C) Digital elevation model (D)  Satellite image

26. Asperthe 2011 census, what is the population of J&K state ?
(A) 10.90 million (B)  11.20million
(C) 18.5million D)  12.5million

27.  Changthang wildlife sanctuary hosts which of the following wildlife ?
(A) Snow leopard and Ibex
(B) European red deer and brown bear
(C) Black bear and Musk deer
(D) All of the above

28. Which of the rivers in the state has the highest hydropower energy potential ?
(A)  Jhelum (B)  Chenab
(C) Indus D) Taw

29. The enzyme that fixes atmospheric CO2 in C4 plantsis :
(A) Aldolase B) ‘ Hydrogenase
(C) PEP carboxylase (D)  RUBP carboxylase

30. Whatis the primary route of mineral absorption by roots ?
(A) Root hairs (B)  Cortex of the root
(C) Epidermis of the root (D)  Casparian strips

31. Epigeal germination is found in:
(A) Pea B) Gram
(C) Castor (D) Jowar
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32.

33.

34.

\ 35.

36.

37.

38.

During cellular respiration, NADH is :
(A) Used in electron transport system
(B)  Converted to NAD+ by an enzyme called dehydrogenase
(C) Reducedto form NAD+
(D) None ofthe above

Geographically India falls in which of the major biomes of the world ?
(A) Tropical rain forest (B)  Tropical dry forest
(C) Tropical savannah (D)  Tundra

Which of the following is false ?
(A) The thyroid gland secrets clacitonin
(B)  Thyroxin is formed by iodination of tyrosine
(C)  Ahormone may be secreted by nerve cells
(D) Melatonin is secreted by pituitary gland

The scientific name of Kashmir stag (Hangul) is :
(A) Moschus fuscus hanglu (B)  Cervuselaphus hanglu
(C) Muntiacus muntjac hanglu (D)  Cervicapra hanglu

Cholecystokinin harmone is produced in :
(A) Thestomach (B)  The pancreas
(C) Thesmall intestines (D)  Themouth

Which of the following are not electromagnetic waves ?
(A) Cosmic rays (B) X-rays
(C). Gammarays ' (D)  Betarays

If the distance between the sun and the earth is increased by three times, then the
attraction between the two will :

(A) Remain constant (B)  Decrease by 63%

(C) Decrease by 89% (D)  Decrease by 73%

CZB-29326(A) 6



39.

40.

41.

42.

43.

44,

45.

When the amount of work done is 333 cal and increase in internal energy is 167 cal,

then the heat supplied is :
(A) 500cal (B)  433cal
(C) 333cal D) 167cal

Both electric and magnetic fields in an electromagnetic waves are :
(A) ‘Perpendicular to the direction of the propagation of wave
(B) Parallel to the direction of the wave propagation
(C) Opposite the direction that the wave travels
(D) Tangential to the direction that the wave travels

What is the electronic configuration of Co ?
(A) [Ar]4s?3d"° (B) [Ar]4s?3d?
(C) [Ar]4d'3d? (D) [Ar]3d’4s?

If both, the pressure and volume of a gas are doubled, how will the absolute

temperature change ?
(A) Itwillincrease by two times its original value
(B) It will decrease to one fourth of its original value
(C) Ttwill stay the same as its original value

(D) Itwill increase by four times its original value

Which among the following does not have the hydrogen bond ?
(A) Phenol ‘ (B)  Liquid NH3
(C) LiquidHCI (D)  Water

The oxidation number of Carbon in CH2O is :

A 2 B) +2
(S D) +3

The Ozone layeris found in :
(A) Troposph;:ré (B)  Stratosphere
(C) Thermosphere (D)  Mesosphere

CZB-29326(A) 7
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46.

47.

48.

49.

50.

51.

52.

Which of the following is not a Greenhouse gas ?
(A) Carbondioxide (B)  Carbonmonoxide
(C) Methane (D)  Chlorofluorocarbons

Black carbon enhances the melting of Himalayan glaciers as the black carbon
deposition :

(A)  Decreases the albedo causing positive radiative forcing

(B) Increases the albedo causing negative radiative forcing

(C) Results in acid rains in the ablation zone

(D) None of'the above

Which one of the following is an important minor furest produce in Kashmir

Himalayas ?
(A) Bamboo (B)  Mushrooms
(C) Dioscorea (D)  None of the above

Isohytes are the lines joining the points of equal :
(A) Temperature (B) Height
(C) Pressure (D)  Precipitation

Carbon sequestration is achieved through : ’
(A) Rocks B) Soils
(C) Plants (D)  Allofthe above

The pace of the anthropogenic climate change can be reduced by :
(A) The use of renewable sources of energy
(B) Reducing the deforestation
(C) Reducing the use of fossil fuels
(D) Alloftheabove

The climate of the Kashmir valley is determined by :
(A) Westerlies (B)  Trade winds
(C) Monsoons (D)  None of'the above
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53.

54.

55.

56.

57.

58.

For the data series: 2, 1,6,4and 2 :
(A) Themodeis4 (B)  Themedianis 3
(C) Thestandard deviation is 4 (D) Themeanis3

Which of the following are true about the normal distribution ?
(A), 95% of the observations lie between the mean and two standard deviations
(B) 68% of the observations lie between the mean and one standard deviation

(C) The mean, median and mode coincide
(D) Alloftheabove

Which of the following statements is true for the standard error of the mean (SEM) ?
(A) SEMis the square root of the variance
(B) SEM assesses the reliability of the mean
(C) SEM measures the spread of observations around the mean
(D) SEMisalways larger than the standard deviation

Which of the following would generally require the largest sample size ?
(A) Cluster sampling
(B) Simple random sampling
(C) Systematic sampling
(D) Proportionate stratificd sampling

An equivalent representation for the Boolean expression A+ A’ is :

A) 1 B 0
C) A'*A Oy A
5 =2 7
Find the cofactor, 4,,, of thematrix A={6 1 -9/
4 -3 8
Ay 7 B 0
(C) 23 Oy -23
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59. The values of x, y, z in order , if the systerﬁs of equations 3x +y + 2z = 3,
2x—-3y—-z=-3andx+2y+z=4are:
A 2,1,4 B 1,2,-3
© 1,2,-1 O 1,11

60. Ifthe ratio of the sum of'the first 6 terms of a Geometric Progression (G.P) to the
sum of the first 3 terms of the G.P. is 9, what is the common ratio of the G.P. ?
A 3 B 173
<G 2 ® 9
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1. The main components of the computer communicate with ecach other through :
(a) Monitor (b) Keyboard
(¢) Memory (d) System bus

2. Whosuggested the “stored program concept™ :
(a) JohnVon Neumann (b) Howard Aiken
(c) Herman Hollerith (d) Charles Babbage

3. Acomputeron the network that is used for sharing resources with others is called :

(a) Workstation (b) Client
(c) Server (d) Mainframe

4. Whatis the maximum data capacity of the optical fiber cable :
(a) 10mbps (b) 1000 mbps
(c) 10000 mbps (d) 20000 mbps

5. Which of the following is not a DOS command ?
(a) Dclete (by CP
(c) remove (d) Nonc of the above

6.  Agndofcellsand columns for input of data in a spreadsheet is called
(a) File (b) Table
(¢) Worksheet (d) Workbook

7. Apictorial representation of the algorithm is called :
(a) Word processor {b) Spreadshcet
(c) Flowchart (d) Graphic User Interface

8. Inorderto make a design template for powerpoint presentation, we use :
(a) Slide master (b) Slide sorter
(c) Slide viewer (d) Alloftheabove

9.  The binary code, made up of only 1 and 0, for47is:

(a) 00111000 (b) 00111100
(c) 00111101 (d) 00111111
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10.  All the layouts, text and displays in a website are programmed using :
(a) HIML (b) SGML
(c) XML (d) Allof theabove

11.  Universe began:

(a) 4.2billion years ago (b) 10-15billion years ago
(c) 1.9billion years ago (d) 6-7billion years ago

12. Which of the following divisions of the geologic time scale is an era of the phanerozoic
eon:
(a) Paleozoic (b) Palcocene
(¢) Permian (d) Proterozoic

13. Onanaverage, how thick is the crust of carth ?
(@ 100km (b) 40km
(c) 10km (d) 82km

14.  All life forms on the earth are referred by :
(a) Hydrosphere (b) Biosphere
(¢) Atmosphere (d} Exosphere

15. The core of earth is thought to be composed of -
(a) Granite (b) Basalt
(¢) Iron-Nickel alloy (d) Peridotite

16. The amount of ground displacement in an earthquake is called the :
(a) Dip (b) Slip
(c) Epicentre (d) Focus

17.  Which of the following statement is true ?
(a) Most earthquakes occur at plate boundaries
(b) Earthquakes can be caused by normal, reverse and thrust faulting
(c) P waves travel faster than both S waves and surface waves
(d) Allof theabove

18, Radiometric dating is least useful for dating :
(a) Metamorphic rocks (b) Sedimentary rocks
(c) Granitic rocks (d) Alltypesofrocks
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20.

[§e]
2

Which type of glaciers are common in the Kashmir Himalayas ?

{a)  Cirque glaciers (b) Vallev glaciers
{(¢)  Alpine glaciers (d)  Allofthcabove

Marble isa metamorphic rock that forms from :
(a) Limestone (b} Granile
{¢) Sandstone (d) Shale

Diamond is an example of what type ol bonding ?
(a) Covalent (b) Metallic
(¢} lonic (d) Noneof'the above

Ozone hole. formed due to CFCs emissions, is developed over carth’s polar regions
in:

(a} Mesosphere (b) Thermosphere

(¢)  Stratosphere {d) Troposphere

Mechanical weathering produces :

(a) Clay minerals (b) Smaller particles
{¢) Quartz {d) Allofthe above
Thrust faultisa:
(a) Lowanglereverse fault {b) Lowanglestrke slip fault
(¢) Lowangle normal fault (d) Highanglereverse fault

Which of the following rocks have not been reported from Kashmir
(a) Precambrian (b) Permian
(¢) Trassic (d) Jurassic

Kyoto protocol is linked to
{a) UNCCD (b) UNFCCC
(¢} UNCBD (d) Montreal Protocol

Which of the following is not an indicator of climate change :
{a) Glacierrecession {b) Change of seasons
{c) Shrinking of wetlands (d)  Avalanches
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28. Ahydrographisaplotof’:
(a) discharge versus time (b) rainfall intensity versus time
(c) rainfall depth versus duration (d) cumulative rainfall versus time
29. Topographic maps are gencrated using :
(a) GPS (b) GPRS
(¢) Tachometer (d) Odomecter
30. Panjal Traps mainly consist of :
(a) Granite (b) limestone
(¢) Basalt (d) Allof the above
31. Which of the following is not a measure of the central tendency ?
(@) Mean (b) Mode
(¢) Median (d) Standard deviation
32, Scatterplots are used to show relationship between -
(a) Meanand standard deviation of the data
(b) Histogram and variance
(¢) Anytwo variables
(d) Alloftheabove
33. Thedistribution of heights of students in a class is roughly bell-shaped. Morcover,
the average height is 68 inches and approximately 95% of the heights are between
62 and 74 inches. The standard deviation of the height distribution is approximately :
@@ 12 b 9
() 6 d 3
34. Ifnisapositive integer such thatn! /(n—-2)! = 342, findn:
(@ 15 » 19
() 17 ) 18
35. Forwhat valuc of k will the two equations 2x +4 =4(x-2)and —x +k=2x - |
have the same solution ?
@) 1 (b)y 7
© -1l d) 17
ELW-6757 5
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36.

3%

38.

39.

40.

41.

42,

If x is a negative number, which of the following must be true ?

I x’<l[x]

I x<V(=x)

L x-1/xl<0

(a) Ilandlllonly (b) L1landlll
(¢) landIlonly (d) TandIHlonly

What is the sum of the reciprocals of the solutions to the equation
X (35)x=-11/3?

(@) 3711 (b) 933

() 955 (d) 55/33

The amount of a radioactive material decays according to the formula
A()=A c*where, A_isthe initial amount, k isa positive constant and tis the time
indays. I'ind a formula for the half life of the material :

(@) T=In2/k (b) T=Indk

(¢) T=Ink/10 (d) None of the above

The level of sound D in decibels is defined as D =10 log(1/ 10'%), where 1 is the
sound intensity in watts‘eny’. Determine the level in decibels of'a sound with intensity
1= 10% waus/em?

(a) 60decibels (b) 80decibels

(c) 120decibels (d) 10decibels

Find the 10" term of a gcomelric sequence if a, = 45 and the common ratior=0.2 :
(a) 4.601 x10° (b) 2304 x107*
(c) 2304 x10° (d) 2304 = 10"

Two waves of same wavelength and amplitude interfere to produce a minimum when

phase differenceis :
(@ 0 (b) =2
(¢) n d) 3n2

In clectric wires, copper is used for clectric conduction mainly because :
(a) Ithas low electrical resistivity (b) Itischeaper
(¢) Itisverydurable and light (d) Ithasahigh melting point
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43.  The pathof charged particle moving in a magnetic field can be :
(a) Straightline (b) Helix
{¢) Circle (d) Allofthe above

44.  Earth Observation Satellites use which part of electromagnetic radiation for remote

sensing :
(a) Gammarays (b) Cosmicrays
(¢)  Sunlight (d) Radio waves

45, Which of the following is not a rencwable source of energy ?
(a) Occancurrents (b) Biomass
(¢) Geothermal (d) Uranium

46. Rutherford’s experiment, which established the nuclear model of the atom, used a

beam of:
{a) Hechumnuclei (b) Heliumatoms
(c) Betaparticles (d) Gammarays

47. NH Clcontains:
(a) Covalent bond (b) Ionic bond
(c) Coordinate covalent bond (d) Allof the above

48.  Which of the following is not asalt ?
(a) [Leadsulphide (b) Sodium chloride
(¢) Slaked lime (d) Zincnitrate

49.  Amnospheric chemistry includes study of acrosols which arc responsible for ;
(a) Global warming and climate change
(b) Scattering of incoming solar radiation
(¢) Weather of earth system
{d) Alloftheabove

50.  Which among the following oxides of nitrogen on dissolution in water produces an
acid which can act as, both, reducing and oxidizing agent ?
(a) NO () N,O,
(c) NO, (d) N,O,
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52.

53.

54.

56.

57.

58.

The wool for the shahtoosh shawls is obtained from :
(a) Reddeer (b) Tibetan antelope
(¢) Barking dear (d) Wild goat

Which of the following minor forest produce in J & K has tremendous economic and

medicinal importance ?
(a) Hazelnut (b) Dioscorea
(¢) Resin (d) Oleander

Genetic engineering has established its applications in the field of

(a) Food production and food security

{b) Populationcontrol

(c) Renewable energy generation

(d)  Alloftheabove
A cell has mitochondria, ribosomes, smooth and rough ER. and other parts. Based
on this information, it could not be :

(a) A ccll froma pine trec (b) A grasshopper cell
(c) A veast(fungus)cell (d) A bacterium

In nutrient cycles in general. the minerals tend to be dispersed through
(a) Evaporation (b) Assimilation
(¢) Conduction (d) Surface and Sub-surface runoft’

Which of the following are floating ocean plants and animals ?
(a) Nekton (b) Plankton
(¢) Benthos (d) terrenus

Which of the following is a correct reaction for photosynthesis ?
(@) 6CO,+C.H O, solar encrgy = 60, + 6H,0

Lol B

(b) 6H,0 +6CO, + solar energy = CH,,0, + 60,

6 "i2

(¢) 6H,0+C I O, + solarenergy = 60, + 6CO,

"N
(d) 6H,0 + 60, + solar energy = C,H,,0, + 6CO,
Fungi and bacteria, which breakdown organic matter and return nutrients to the soil,
arecalled :
(a) Decomposers (b) Autotrophs
(¢) Imposters (d) Producers
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59. Theloss of energy from one trophic level to the next is an example of :

(a) The law of conservation of matter -
(b) The First law of thermodynamics
(¢) The Second law of thermodynamics
(d) Therecyclingof nutrients

60. Which ofthe following is a Ramsar Sitein J & K ?

(a) Dallake (b) Gangabal lake
(¢) Manasbal lake (d) Tsomorin lake
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